3624/5

FACULTY OF SOCIAL SCIENCES
B.A. (IIT Semester) Examination
POLITICAL SCIENCE
Paper I11
(Indian Government and Politics)
(Basics of Indian Constitution & Citizenship)
(CBCS)

Time : 2 Hours| [Max. Marks : 80

8.

9.

Answer any five questions, including Q.No.1 which is compulsory.

(Marks: 5 x 16 = 80)

Attempt any two questions in short-form. (2x8=16)

(a) Write an essay about making process of Indian Constitution.

(b) Explain the importance of Fundamental Rights of Indian Constitution.

(c) How the President of India is elected? Write the election procedure.

(d) Critically examine the powers and functions of the Chief Minister of a State.
(e) Write about farmer's movements.

Write an essay on the Indian Nationalist Movement from 1885 to 1947.

Explain the main features of Indian Constitution.

Critically analyse the Directive Principles.

Explain the differences between Fundamental Rights and Directive Principles of State
Policy.

Explain the position and functions of the Prime Minister.
Describe the composition, powers and functions of the Supreme Court of India.
Explain the role of the Chief Minister in the State.

Describe the powers and functions of High Court.

10. Write an essay on Tribal Movements.
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FACULTY OF SOCIAL SCIENCES
B.A. (I Semester) Examination
POLITICAL SCIENCE
Paper 11
(Concepts, Theories and Institutions (State Apparatus))
(Old)

(Under CBCS)
Time : 2 Hours| [Max. Marks : 80

Answer any five questions, including Q.No.1 which is compulsory.
(Marks: 5 x 16 = 80)

1. Attempt any two questions in short-form. 2x8=16)
(a) What is ‘Nation’? Explain its features in short-form.
(b) Describe the pluralistic theory of Sovereignty.
(c) Explain the ‘Rule of Law’.
(d) Explain the main features of unitary form government.

(e) Discuss the independence of judiciary in India.
2. Define ‘the State’ and explain its features.
3. Write an essay on civil society.
4. Define ‘the Sovereignty’ and describe its features.
5. Critically examine the monistic theory of sovereignty.
6. Define ‘the Liberty’ and explain the various kinds of Liberty.
7. Describe the various theories of Rights.
8. Define ‘the Democracy’ and explain the devices of direct democracy.
9. Explain the merits and demerits of parliamentary form of Government.

10. Describe the powers and functions of Legislature.
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FACULTY OF SOCIAL SCIENCES
B.A. (IT Semester) Examination
PUBLIC ADMINISTRATION
Paper 11
(Development Dynamics and Emerging Trends)

(CBCS)
Time : 2 Hours] [Max. Marks : 80

Answer any five questions, including Q.No.1 which is compulsory.

(Marks: 5 x 16 = 80)

1. Attempt any two questions in short-form: (2x8=16)
(a) Write about F.W.Riggs.
(b) What s 11"d Minnowbrook Conference?
(c) Explain the objectives of New Public Management.
(d) What is the role of Public Services?

(e) What is privatization?
2. Discuss the meaning and importance of Comparative Public Administration.
3. Explain the meaning of Development Administration.
4. Write an essay on the meaning and importance of New Public Management.
5. Write an essay on Public Approach.

6. Explain the objectives of New Public Administration.
7 What is 15 Minnowbrook Conference? Explain.

8. Discuss the role of Public Services in the formation and development of New State of
Telangana.

9. Write an essay on the Governance.

10. Explain the features of Globalization.

[P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (IIT Semester) Examination
HISTORY
Paper I11

(History of India (1526 — 1857 CE))

(Under CBCS)
Time : 2 Hours] [Max. Marks : 80

Answer any five questions, including Q.No.1 which is compulsory.
(Marks: 5 x 16 = 80)
1. Attempt any two questions in short-form. 2x8=16)
(a) Art and Architecture of Mughals
(b) Greatness of Ranjith Singh
(c) Subsidiary Alliance system of Wellesley
(d) Mercantilism
(e) 1773 Regulating Act.
Write an essay on the administrative system of Mughals.
Explain the greatness of Shersha.
Give a brief account on the life and achievements of Shivaji.
Explain the significance of the Anglo-Maratha wars.
Describe the role of Robert Clive in the foundation of the British in India.
Discuss the causes and results of III Panipat War.

Explain the Ryotwari system of Thomas Munro.

T = R VR S R

What are the measures taken to prevent famines during the British rule?

10. Describe the decline of rural cottage industries under British rule.

[ P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (IV Semester) Examination
HISTORY
Paper IV
(History of India (1858-1964 C.E.))
(Under CBCS)
Time : 2 Hours] [Max. Marks : 80

Answer any five questions, including Question No.1 which is compulsory.
(Marks: 5 x 16 = 80)

1. Attempt any two questions in short-form. (2x8=16)
(a) Queen’s Proclamation
(b) Dr. B.R. Ambedkar
(¢) Subhash Chandra Bose
(d) Bhagat Singh
(e) Police Action on Hyderabad State.

2. Write an essay on introduction of Western Education in India.

3. Discuss the reforms introduced by Lord Rippon.

4. Describe the contribution of Arya Samaj to the Indian society.

5. Estimate the contribution of Jyothibha Phule to the Indian society.

6. Give an account of the Vande Mataram Movement.

7. Explain the role of Mahatma Gandhi in Indian Freedom Struggle.

8.  Estimate the contribution of Revolutionary Movements to the Freedom Struggle.
9. Examine the rise of Socialist and Communist Movements in India.

10. Write an essay on the emergence of communal politics during the Freedom Movement.

[P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (IV Semester) Examination
POLITICAL SCIENCE
Paper IV
(Indian Government and Politics)
(Under CBCS)
Time : 2 Hours] [Max. Marks : 80

Answer any five questions, including Question No.1 which is compulsory.
(Marks: 5 x 16 = 80)

1. Attempt any two questions in short-form. (2x8=16)
(a) Write a short note on Sarkaria Commission.
(b) Describe the powers of Village Sarpanch.
(c) Explain the role of media in Indian democracy.
(d) Discuss the need for electoral reforms in India.

(e) Explain the powers and functions of National Commission for women.
2. Explain the features of Indian federal system.
3. Analytically discuss the recent trends in Centre-State relations.
4. Explain the evolution process of Local Self-Government in India.
5. Write an essay on 73rd Constitution Amendment Act (Panchayat Raj Institutions).
6. Explain the nature and features of political parties in India.
7.  Write an essay on Telangana Rashtra Samithi (TRS) party.
8. Describe the composition, powers and functions of Election Commission of India.

9. Analytically explain the influence of socio-economic factors on voting behaviour in
India.

10. Describe the composition and functions of National Human Rights Commission.

[P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (I Semester) Examination
POLITICAL SCIENCE
Paper I
(Concepts, Theory and Institutions (Political Theory))
(Old)
(Under CBCS)

Time : 2 Hours| [Max. Marks : 80

8.

9.

Answer any five questions, including Question No.1.
(Marks: 5 x 16 = 80)

Attempt any two questions in short-form. 2x8=16)
(a) Describe the importance of Political Science.

(b) Explain the relations of Political Science with Sociology.

(c) Explain the liberal approach to the study of Political Science.

(d) Critically examine Individualism.

(e) Write a short note on Divine theory of Origin of the State.

Define Political Science and explain the scope of Political Science.
Analytically describe the emergence and evolution of Political Science.

Explain the relations between Political Science and History.

Describe the relationship of Political Science with Economics.

Critically explain the Marxist approach to the study of Political Science.
Analytically describe the behavioural approach to the study of Political Science.
Critically explain the Theory of Anarchism.

Discuss the main principles of Socialism.

10. Analytically explain the Evolutionary (Historical) Theory.

[ P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (I Semester) Examination
POLITICAL SCIENCE
Paper I
(Political Theory)
(New)
Time : 2 Hours| [Max. Marks : 80

Attempt any five questions from the following:
(Marks: 5 x 16 = 80)

1. Attempt any two questions in short-form. 2x8=16)
(a) Explain the explanatory Political Theory.
(b) Give a short note on ‘Divine Theory’ of origin of the State.
(c) Describe the feminist perspective of the justice.
(d) Explain the ideology of Nationalism.

(e) Explain the role of pressure groups in India.
2. What is Political Theory? Explain the evolution Nature of Political Theory.
3. Analytically discuss the ‘Normative Political Theory’.
4. Explain the Evolution Theory of origin of the State.
5. What are the main challenges to the Sovereign state in the contemporary world?
6. What is Liberty? Describe the various kinds of Liberty.
7. Discuss the Marxist perspective of Equality.
8. Critically explain the ideology of Liberalism.
9. Write an essay on ‘Multiculturalism’.

10. What is Legislature? Describe the main functions of Legislature.

[P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (IV Semester) Examination
ECONOMICS
Paper IV
(Public Finance and International Trade)
(Under CBCS)

Time : 2 Hours] [Max. Marks : 80

8.

9.

Answer any five questions, including Question No.1 which is compulsory.
(Marks: 5 x 16 = 80)

Attempt any two questions in short-form. (2x8=16)
(a) Public Finance Vs. Private Finance

(b) Sources of Public Revenue

(c) Determinants of Public Expenditure

(d) Gains from Trade

(e) Components of Balance of Payments.

Explain the meaning and scope of Public Finance.

Explain the principle of Maximum Social Advantage.

Discuss the merits and demerits of Direct Taxes.

Analyse the characteristics of Good Tax System.

Explain Wagner’s Law of Public Expenditure.

Analyse the sources and effects of Public Debt.

Analyse the role of International Trade in economic development.

Write an essay on Tariffs and Quotas.

10. What are the measures to correct the disequilibrium of Balance of Payments? Analyze.

[P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (IV Semester) Examination
PUBLIC ADMINISTRATION
Paper IV
(State Administration and Emerging Issues)
(CBCS)

Time : 2 Hours| [Max. Marks : 80

10.

Answer any five questions, including Question No.1 which is compulsory.
(Marks: 5 x 16 = 80)

Attempt any two questions in short-form: 2x8=16)
(a) Administrative history of Telangana.

(b) Functions of State Secretariat.

(¢) Administrative Reforms.

(d) Ethics in Administration.

(e) Legislative Control.

Explain the relationship between Chief Minister and his Council of Ministers.
Write an essay on the State Administration.

Discuss the importance of Directorates.

Explain the role of District Collector.

Discuss the merits and demerits of Administrative Reforms Commission.
Write an essay on the recommendations of Second Administration Reforms.
Examine the integrity in Government.

Write an essay on the values in Administration.

Explain the Judicial control.

[P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (III Semester) Examination
PUBLIC ADMINISTRATION
Paper I11
(Union Administration)
(CBCS)

Time : 2 Hours| [Max. Marks : 80

8.

9.

Answer any five questions, including Q. No.1 which is compulsory.
(Marks: 5 x 16 = 80)
Attempt any two questions in short-form. (2x8=16)
(a) Gupta Administration
(b) Council of Ministers.
(c) Center State Administration Relations.
(d) Function of Election Commission.
(e) Company.
Explain the salient administration features of India after Independence.
Examine the Indian Constitutional Moorings.
Explain the powers and functions of President of India.
Examine the Prime Minister Office.
What is All India Services? Explain.
Explain about Finance Commission.

Write about the structure and function of Union Public Service Commission.

What is NITI Aayog? Explain.

10. Write an essay on the important problems of Public Enterprises.

[P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (II Semester) Examination
POLITICAL SCIENCE
Paper 11
(Western Political Thought)
(New)

(CBCS)

Time : 2 Hours] [Max. Marks : 80

8.

9.

Attempt any five questions from the following.
(Marks: 5 x 16 = 80)

Attempt any two questions in short-form. 2x8=16)
(a) Explain the nature of Ancient Greek political thought.

(b) Discuss the Church-State controversy in medieval period.

(c) Explain the theory of ‘Absolute Sovereignty’ of Thomas Hobbes.

(d) Describe J.S.Mill’s views on ‘Freedom of Women’.

(e) Explain Karl Marx theory of ‘Surplus value’.
Analytically explain Plato’s Theory of Education.

According to Aristotle, what are the causes of Revolutions and Methods to prevent
Revolutions?

Explain the political philosophy of Thomas Aquinas.

Describe Machiavelli’s techniques for the extension and preservation of the State.
Analytically explain the social contract theory of John Locke.

Write an essay on Rousseau’s ‘Theory of General Will’.

Critically explain the political thought of Jeremy Bentham.

Explain the views of J.S.Mill on ‘Liberty’ and ‘Representative Government’.

10. Explain Karl Marx views on ‘Historical Materialism’ and ‘Class Struggle’.

[P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (VI Semester) Examination
HISTORY
Paper VII
(World History (1815-1950 CE))
(Under CBCS)

Time : 2 Hours] [Max. Marks : 80

8.

9.

Answer any five questions, including O.No.1.
(Marks: 5 x 16 = 80)

Attempt any two questions in short-form. (Marks: 2 x 8 =16)
(a) Congress of Vienna

(b) Lenin

(¢) Economic Depression of 1929

(d) Cold war

(¢) Mao-Tse-Tung.

Write an essay on the unification of Italy.

Write a note on the role of Bismark in Unification of Germany.
Explain the causes and results of First World War.

What were the reasons for failure of League of Nations?

Write a note on reforms introduced by Mustafa Kamal Pasha in Turkey.
Explain about Nazism in Germany.

Explain the causes of Second World War.

Write a note on Organisational Structure of UNO.

10. Estimate the role of Mahatma Gandhi in Indian National Movement.

[P.T.O.
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FACULTY OF ARTS/SOCIAL SCIENCES
B.A./B.A.(L) (IV Semester) Examination
SKILL ENHANCEMENT COURSE - I

(Banking and Insurance)
Time : 2 Hours| [Max. Marks : 40

Section A — (Marks: 4 x 4 =16)

(Short Answer Questions)

1. Answer any four of the following:
(a) What is Nationalisation of Banks?
(b) What do you mean by Commercial Bank?
(c) What is Virtual Banking?
(d) Define Risk.
(e) What is Operational Risk?

(f) What do you mean by non-life insurance?

Section B — (Marks: 2 x 12 =24)
Answer the following questions.

(Essay Type Questions)
2. (a) Discuss the importance of banking in the modern world.
Or
(b) What is E-Payment? Explain various methods of E-Payments.
3. (a) Explain the concept and characteristics of risk.
Or

(b) Discuss the various non-life insurances.

[P.T.O.
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FACULTY OF ARTS
B.A. (Languages-Telugu) IV-Semester Examination
SANSKRIT
(Second Language)
Paper- IV
Time: 2 Hours] [Max. Marks: 80
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FACULTY OF SCIENCE
B.A./B.Sc./B.Z.CA. (I Semester) Examination
COMPUTER APPLICATIONS
Paper 11
(Computer Programming With C)

(Under CBCS)

Time : 2 Hours] [Max. Marks

® N kR wD

10.
I1.

12.

Section A — (Marks: 4 x 7 =28) B.A.

Section A — (Marks: 4 x 10 =40) B.Z. CA.
Answer any four questions.

Discuss about the structure of C-program.

Discuss about the formatted input and output functions.

Write about Goto statement with suitable example.

Explain about switch statement.

Discuss about any five string functions.

What is Recursion? Discuss in detail with suitable example.

Define a pointer. Discuss about different operations performed on a pointer.

Explain about Random Access files.

Section B — (Marks: 2 x 16 =32) B.A
Section B — (Marks: 2 x 20 = 40) B.Z. CA.
Answer any two questions.
Explain different types of operators.

Discuss in detail about Arrays with suitable examples.

: 60/80

Compare and contrast the call by Value and call by Reference of a function with

suitable examples.

Define a structure. Discuss in detail about how structure members are accessed and

passed to a function.
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FACULTY OF SCIENCE
B.A./B.Sc. (B.Z.CA) (IV Semester) Examination
COMPUTER APPLICATIONS
Paper IV
(Internet Technologies)
(Under CBCS)

Time : 2 Hours] [Max. Marks : 60/80

© N kWD =

10.
I1.
12.

Section A
(Marks: 4 x 7 =28 for B.A. and Marks: 4 X 10 =40 for B.Z.CA)
Answer any four questions.

What is HTML? Explain HTML document body with an example.
What is the use of /ists in HTML? Explain its types.
What is JavaScript? Explain prompt box and dialog box with a suitable example.
What is a function? Explain recursion with an example.
What is an array? Explain its types with an example program.
List and explain document and window object functions with an example.
What is XML? How data is structured using it? Explain with an example.
What is Document Object Model (DOM)? Explain its pre-defined functions and
properties with an example.

Section B

(Marks: 2 x 16 =32 for B.A. and Marks: 2 x 20 =40 for B.Z.CA)
Answer any two questions.

Briefly explain Embedded Style Sheets with an example. Write about types of classes
in it.

With suitable examples, briefly discuss operators in JavaScript.

What is the use of event model in JavaScript? List all types of events in JavaScript.

What are Document Type Definitions? Explain it with an example program.



4869
FACULTY OF SCIENCE
B.A./BSc (B.Z.CA.) lI-Semester Examination
Computer Applications
Paper-I|
Programming in C++ (New)
(CBCS)
Time: 2 Hours] [Max. Marks: 60/80
Section-A (Marks: 4x7=28 — (BA)
(Marks: 4x10=40 — (B.Z.CA)
Answer any Four questions
Give a short not on looping statements.
Differentiate between call by value and call by reference Variables.
What is an inline member function? Explain with example.
What is a Constructor? Explain passing arguments to it with example.
Briefly explain class hierarchies.
What are C-Strings? Explain string literals.

What is an Exception? Explain how they are handled.

© N o g & w D P

Why we are using class Templates? Explain class templates and inheritance.

Section-B (Marks: 2x16=32 — (BA)
(Marks: 2x20=40 — (B.Z.CA)
Answer any Two questions

9. (i) Briefly explain all types of datatypes.
(i) Write a brief note on arrays.

10. What is the use of Access Specifiers? Explain them in brief with example.
11. Briefly explain Polymorphism and Virtual Member Functions.

12. Give brief note on Standard Template Library (STL).



3308/5

FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (IT Semester) Examination
FOREIGN TRADE
Paper IV
(Old)
(CBCS)

Time : 2 Hours] [Max. Marks : 80

o N kR

10.

Answer any four questions, including Q. No. 1 which is compulsory.
(Marks: 4 x 20 = 80)
Attempt any two questions in short-form: (2x10=20)

(a) What is Inland Trade?

(b) Explain the feature of Balance of Payments.
(c) Ease of doing business

(d) Explain the objectives of IMF.

(¢) What is Regional Trade Agreement (RTA)?

Explain the documents used in Foreign Trade.

Distinguish between balance of payments and balance of trade.
Discuss the objectives of Foreign Trade Policy, 2015-20.
Explain the merits and demerits of foreign trade.

Discuss the different types of trade blocs.

Explain the functions of IMF.

Explain the role of World Bank in assisting the economic growth of under-developed
countries.

Explaining the vision of NDB, highlight its functions.

What is meant by World Trade Organisation? Discuss its objectives, scope and
important agreements.

[P.T.O.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (III Semester) Examination
ADVANCED ACCOUNTING
Paper I
(CBCS)

Time : 2 Hours| [Max. Marks : 80

Answer any four questions, including Q.No.1 which is compulsory.
(Marks: 4 x 20 = 80)

Attempt any two questions in short-form. (2 x10=20)
(a) Explain the process of accounting treatment of Goodwill.

(b) Distinguish between sacrificing ratio and gaining ratio.

(c) Write a note on insolvency of Partner.

(d) Differentiate between Preference shares and Equity shares.

(e) What are the books of accounts maintained by a Company?

Explain the process of treatment of Goodwill in the case of retirement of a Partner.

A and B are Partners in a Firm sharing profits in the ratio of 5 : 3. They admit C
giving him 1/4th share in future profits. Goodwill of the firm is valued at Rs.20,000.
It is agreed that Goodwill is raised in the books and written off after the admission
of C. Pass Journal entries to record the same.

What is Realisation Account? Prepare a specimen Realisation Account.

The Partnership between Red and Blue was dissolved on 31 March 2009. On that
date, the respective credits to the Capitals were: Red Rs. 1,00,000 and Blue Rs. 60,000.
Bills Payable and Sundry Creditors of the firm were Rs. 15,000 and Rs. 30,000
respectively.

The assets represented by the above realised Rs.1,60,000. The expenses of realisation
were Rs.3,000. Prepare necessary ledger accounts to close the books of the firm with
necessary workings.

What is Underwriting? What are the conditions for underwriting?

Amar Ltd. issued 5,000 equity shares of Rs. 10 each at a premium of Rs. 2 per share
payable: Rs. 2 on application, Rs. 5 on allotment (including Premium), Rs. 3 on First
Call and balance on Final Call. The call on 1,000 shares and final call on 1,500 shares
was not received. Give Cash Book and Journal entries for the above transactions;
also prepare its opening Balance Sheet.

[P.T.O.
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What are the general instructions for preparation of Balance Sheet and Statement of
Profit and Loss?

From the following particulars, ascertain the change in Inventories:

Raw Materials purchased 3,00,000
Work-in-progress 1.4.2014 20,000
Finished Goods 1.4.2014 1,00,000
Raw Materials 1.4.2014 70,000
Finished Goods 31.3.2015 75,000
Work-in-progress 31.3.2015 25,000
Raw Materials 31.3.2015 60,000

What is the need of valuing shares? Explain the methods of valuing shares.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (IV Semester) Examination
AUDITING
Paper IV
(Under CBCS)

Time : 2 Hours| [Max. Marks : 80

10.

Attempt any four questions, including O.No.1.

(Marks: 4 x 20 = 80)
Attempt any two questions in short-form: (2x10=20)
(a) What is Social Audit?
(b) What is internal check?
(c) What is Audit certificate?
(d) What is Audit Work Book?
(¢) What do you mean by Valuation of an Asset?

Define Auditing and explain the objectives of it.

What are the procedures for issue of standards by AASB?

What are the duties of an auditor in connection with forfeiture of shares?

What are the rights of an auditor?

What is the meaning of internal control? Write about the objectives of internal control.
Distinguish between internal check and internal audit.

How many types of vouchers are there? Explain them.

What are the problems of EDP (Electronic data processing audit) environment?

What is verification? How would you verify different items shown on the liability
side of Balance Sheet?

[P.T.O.
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FACULTY OF COMMERCE & BUSINESS MANAGEMENT

B.Com. (III Semester) Examination
BUSINESS STATISTICS —1
Paper 11
(Under CBCS)
Time : 2 Hours] [Max. Marks : 80

Answer any four questions, including Q. No. 1.
(Marks: 4 x 20 = 80)
1. Answer any two questions in short-form: (2x10=20)
(a) Write the advantages and limitations of secondary data.

(b) Draw Pie Diagram from the following data:

Item Expenditure (Rs.)

Food 3,400

Clothes 1,600
Rent 800
Fuel 800
Education 400
Miscellaneous 200

Total 7,200

(c) Write the merits and demerits of Mode.
(d) Distinguish between dispersion and skewness.

(e) Calculate Spearman's Coefficient of Rank Correlation.

Marks in Telugu 60 | 48 52 | 50 | 55 621 65| 70 | 68

Marks in English | 72 | 62 68 | 65 | 70 60| 551521 79

Discuss the various methods of random sampling.
Explain various methods of collecting primary data.

What are the various types of diagrams? Explain.

A

Draw Less than and More than cumculative frequency curves for the following data
and with the help of them find out Median :

C.L: 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80

F: 3 6 12 16 10 7 3

[P.T.0
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6. What is Geometric Mean? Explain its merits and demerits.

7. Calculate Mode for the following data:

C.L f
0-10 6
10 - 20 10
20 - 30 12
30 — 40 14
40 - 50 18
50 — 60 20
60 — 70 26
70 — 80 15
80 — 90 12
90 — 100 8

3597/5

8.  Explain the relative merits and demerits of various measures of Dispersion.

9. Calculate Bowley's Coefficient of Skewness from the following data:

C.L: 0-10 10-20 [ 20-30 [30-40 | 40-50 [50-60
F: 5 12 20 16 5 2
10. Calculate Coefficient of Correlation for the following data:
Price 8 10 15 17 20 22 24 25
Supply 25 ] 30 32 32 37 40 42 45
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT

B.Com. (IV Semester) Examination
BUSINESS STATISTICS —1I
Paper 11
(CBCS)

Time : 2 Hours] [Max. Marks : 80

Answer any four questions, including Q.No.1 which is compulsory.
(Marks: 4 x 20 = 80)
Answer any two questions in short form: (2x10=20)
(a) What is Regression? Write its uses.
(b) Explain the problems in the construction of Index Numbers.

(¢) Construct 5 yearly moving averages of the number of students studying in a
College shown below:

Year No. of students
2009 332
2010 317
2011 357
2012 392
2013 402
2014 405
2015 410
2016 427
2017 405
2018 431

(d) Explain the Multiplication Theorem of Probability.

(e) The mean of the Poisson distribution is 6.25. Find the other constants of the
distribution.

Write the differences between Correlation and Regression. Write a brief note on
Regression Lines.

From the following data, obtain two Regression Equations:
X |6 2 10 4 8
Y |9 11 5 8 7

Explain the various methods of constructing Index Numbers.

[P.T.O.
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5. Construct Fisher's Ideal Index Number for the following data and show how it satisfies
the Time and Factor Reversal Tests:

Commodity 2018 2019
Quantity Price Quantity Price
A 20 12 30 14
B 13 14 15 20
C 12 10 20 15
D 8 6 10 4
E 5 8 5 6

6. Explain about various Components of Time Series.

7.  Fit a Straight Line Trend for the following series. Estimate the value for 2018.
Year 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017

Production of steel 60 72 75 65 80 85 90
(M. Tonnes)

8. Define Probability. Explain the Classical Theory of Probability.

9. A bag contains 5 white and 8 red balls. Two drawings of 3 balls are made such that
(a) the balls are replaced before the second trial and (b) the balls are not replaced
before the second trial. Find the Probability that the first drawing will give 3 white
and the second 3 red balls in each case.

10. What is Normal Distribution? Explain its properties.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (IV Semester) Examination
CORPORATE ACCOUNTING
Paper |
(CBCS)
[Max. Marks : 80
Answer any four questions, including Q.no.1.
(Marks: 4 x 20 = 80)

(2 x10=20)
Discuss the powers and duties of Liquidator.

Write the distinction between Amalgamation, Absorption and Internal
Reconstruction.

XYZ Ltd. acquired the business of X and Y on the basis of the following Balance

Sheet:

Liabilities Amount-Rs. Assets Amount-Rs.

Capitals: Assets:

X 2,00,000 Plant & Machinery 1,87,500

Y 1,50,000 3,50,000 Land & Buildings 87,500

Sundry Creditors 1,00,000 Stock 1,00,000
Debtors 62,500
Cash at Bank 12,500

4,50,000 4,50,000

The business was purchased for Rs. 5,00,000 and the purchase price was satisfied
by the issue of 10,000 equity shares of Rs. 25 each issued at a premium of
Rs. 12.50 per share and the balance in cash. Show the entries in the books of
XYZ (Co.) Ltd.

On the basis of the following information prepare (i) Schedule 13 - Interest Earned
and (i1) Schedule 14 - Other Income:

Particulars Amount Rs. | Particulars Amount Rs.
Interest and Discount | 1,25,00,000 | Profit on sale of 4,00,000
Interest on Balances 45,000 |Investments

with RBI Commission, exchange | 22,50,000
Income on Investment| 35,50,000 [and brokerage

Profit on exchange Profit on sale of land, 13,00,000
transactions 11,00,000 | Buildings and other

Loss on sale of assets

Investments 75,000

[P.T.0
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(e) Write a short note on the following points:
(1) Annuities (i1) Surrenders
(ii1) Reinsurance
Define Liquidation. Discuss the different types of liquidation of a Company.
X Ltd. went into voluntary liquidation on 31-12-2018 on which date its position was
as under:

Liabilities Amount | Assets Amount
Rs. Rs.
Share Capital: Goodwill 1,00,000
Authorised : 30,000 shares 6.00,000 | Leaseholds 96,000
of Rs. 20 each Plant and Machinery 1,31,000
Subscribed and Paid-up: Stock 1,13,600
19,500 shares of Rs. 20 each | 3,90,000 | Sundry Debtors 1,29,640
Sundry Creditors: Cash 5,000
Preferential 48,400 Profit & Loss A/c 1,97,360
Partly secured 1,10,620
Unsecured 1,99,580 3,58,600
Bank Overdraft (Unsecured) 24,000
7,72,600 7,72,600
Assets were sold and the liquidator has realised the following sums: Rs.
Leaseholds, firstly utilised by fully secured creditors on pro rata basis: 70,000
Plant and Machinery 1,02,000
Stock 78,000
Sundry Debtors 1,17,000
Cash 5,000

Liquidation expenses amounted to Rs.2,000. Liquidator is entitled to a remuneration
at 2% on the assets realised.

Prepare the Liquidator's Final Statement of Account.

What is Purchase Consideration? Write the important points to be remembered while
calculating Purchase Consideration.

The following figures relate to Sudha Ltd. and Purna Ltd. as on 31° March, 2018 who
agreed to amalgamate into Sudha Purna Ltd.

Liabilities Sudha Ltd. Purna Ltd. | Assets Sudha Ltd. |Purna Ltd.
Capital 16,00,000 8,00,000 | Fixed Assets 11,10,400 | 5,95,600
P&L Alc 5,20,000 2,80,000 | Stock 6,24,400 | 4,28,400
Creditors 3,04,000 4,04,000 | Book Debts 4,95,600| 3,40,800
Investments 1,20,000 80,000

Cash at Bank 73,600 39,200

24,24,000 14,884,000 24,24,000 | 14,84,000
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Assuming that the goodwill of Sudha Ltd. and Purna Ltd. as Rs. 1,12,000 and
Rs.1,11,600 respectively., work out the basis on which Amalgamation should be made.
The Investments of Sudha Ltd. and Purna Ltd. are valued at Rs.1,08,000 and Rs.76,000
respectively. Pass journal entries in Sudha Purna Ltd. and show the Initial Balance
Sheet.

6. Write the Journal Entries relating to Internal Reconstruction.
7. Ravi Co. Ltd. has the following Balance Sheet as on 31-12-2018:

Liabilities Amount Rs. | Assets Amount Rs.
Share Capital: Goodwill 2,00,000
4,000 Preference Shares of 4,00,000 | Buildings 2,20,000
Rs. 100 each Machinery 1,80,000
6,000 Equity Shares of 6,00,000 [ Stock 1,60,000
Rs. 100 each Debtors 1,80,000
Creditors 2,00,000 | Cash 20,000
P&L Account 2,40,000

12,00,000 12,00,000

Considering the financial position, a capital reduction scheme is decided as follows:
(i) Equity and Preference shares are to be reduced to Rs. 50 each.

(i) The amount is to be used to write off Goodwill and P&L Account.

(ii1) Buildings are to be reduced by Rs. 30,000 and Machinery by Rs. 20,000.

(iv) The Balance is to be used to create Reserve for Bad Debts.

Pass entries to implement the scheme and prepare Balance Sheet.

8. Define a Banking Company. Specify the various ledgers and registers maintained by
a Banking Company (Bank).

9. From the following information, prepare Profit and Loss Account of the Good Luck
Bank Ltd. for the period ended 31* March 2018:

Particulars Amount |Particulars Amount
(Rs. in '000) (Rs. in '000)
Interest on Loans 1,200 (Interest on S.B. Deposits 350
Interest on F.D. 1,100 [Gross Discount on Bills 600
Commission 40 |Interest on Cash Credits 1,050
Exchange & Brokerage 80 |and ODs
Rent, Sundry Charges 100 |Taxes & Licences 40
Printing 120 |Audit fees 50
Salaries & Allowances 550

10. What is Insurance? Distinguish between Life Insurance and General Insurance.

[P.T.O
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (III Semester) Examination
ENTREPRENEURIAL DEVELOPMENT AND BUSINESS ETHICS
Paper IV
(CBCS)

Time : 2 Hours| [Max. Marks : 80

8.

9.

Answer any four questions, including Q. No. 1 which is compulsory.

(Marks: 4 x 20 = 80)

Attempt any two questions in short-form: (Marks: 2 x 10 =20)
(a) Types of entrepreneurs

(b) Brainstorming

(c) Short notes on MUDRA Bank

(d) Feasibility Report

(e) Project Appraisal

(f) Business Ethics.

Explain the challenges faced by women entrepreneurs in India.

Define Entrepreneur. Explain the functions of entrepreneur.

Explain the ways to identify an opportunity.

Write an essay on Creativity and Innovation.

What is Project formulation and explain the phases of project formulation?
What is project appraisal? Explain its scope.

Discuss the role of financial institutions in Entrepreneurial Development.

Describe the functions of SFC.

10. Define Social Responsibility. What are the features of it?

[P.T.O.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (I Semester) Examination
FINANCIAL ACCOUNTING -1
Paper 1
(0ld & New)
(CBCS)
Time : 2 Hours] [Max. Marks : 80

Answer any four questions, including Q.No.1, which is compulsory.
(Marks: 4 x 20 = 80)
1. Answer any two questions in short-form (2x10=20)

(a) Write the distinction between Book Keeping and Accounting.

(b) From the following particulars, prepare Sales Book of Anand Furniture Works:

2018 Jan-5 : Sold on credit to Misra & Co.:
10 Tables @ Rs. 750 each

50 Chairs @ Rs. 300 each
2018 Jan-18 :  Sold to Tiwari & Brothers on credit:
5 Almirahs @ Rs. 10,000 each
50 Chairs @ Rs. 300 each
7 Tables @ Rs. 700 each
2018 Jan-22 :  Sold to Satyanarayanan & Co. for cash:
25 Tables @ Rs. 700 each
30 Chairs @ Rs. 280 each
Anand Furniture Works allows trade discount of 10%.

(¢) Find out the Bank Balance as per Pass Book:
(i) Bank Balance as per Cash Book Rs. 80,000.

(i) Dividends collected and credited in Pass Book but not entered in Cash Book
Rs. 7,000

(ii1) Subscriptions to Chambers of Commerce paid by bank debited in Pass Book
Rs. 500.

(iv) Wrong debit given in Pass Book, not yet adjusted Rs. 6,000.
(d) Explain about various types of errors.

(e) Write the differences between Trial Balance and Balance Sheet.

2. Define Accounting. Write the advantages and disadvantages of Accounting.

[P.T.0
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Journalize the following transactions:

2018 Jan. 1 :|Ramesh started business with a capital of Rs. 1,00,000.

2 :|Deposited in bank Rs. 30,000
5 :|Purchased goods from Arun on credit Rs. 20,000
7 :|Sold goods to Raju on credit Rs. 15,000
9 :|Purchased goods from Anil for cash Rs. 10,000

12 :|Sold goods to Srinivas for cash Rs. 17,000

15 :|Issued cheque to Arun Rs. 15,000

20 :|Received interest from Karthik Rs. 1,500.

Define Subsidiary Books. Write their advantages.

Prepare Three-Column Cash Book of Sri Kiran from the following particulars:

2018 Jan. 1 :|Cash in hand Rs. 5,000

Cash at Bank Rs. 1,00,000

2 :|Purchased goods for cash Rs. 3,000

4 :|Sold goods for cash Rs. 10,000
10 :[Received cash from Krishna (Discount allowed Rs. 150) Rs.4,850
12 :|Issued cheque to Rajendar (Discount received Rs.100) Rs. 3,900
14 :[Cash deposited in bank Rs. 5,000

16 :|Received cheque from Prabhakar (in full settlement of a debt of
Rs. 5,000) Rs. 4,500

20 :|Bank collects interest on securities Rs. 5,000

22 :|Received cheque from Sridhar, deposited in bank Rs. 10,000
27 :|Bank returns cheque of Sridhar as dishonoured

30 :[Bank charges as per Pass Book Rs. 250

Define Bank Reconciliation Statement. Write the causes for the differences between
Cash Book balance and Pass Book balance.

Prepare Bank Reconciliation Statement as on 3 1st December 2018 from the following

particulars:

(1) Balance as per Pass Book Rs. 1,00,000 (Overdraft)

(i1) Interest on investments collected by bank Rs. 5,000

(ii1) Bank has paid Rs. 1,500 towards Insurance Premium and was not entered in
Cash Book.

(iv) Cheque received, entered in Cash Book, but not sent to bank for collection
Rs.2,500

(v) A wrong debit of Rs. 2,000 is appearing in Pass Book.

What is Depreciation? Explain any two methods of Depreciation and their merits and
demerits.
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Rectify the following errors by using Suspense Account:

(a) Goods sold to Rajesh Rs. 1,750 were not posted to his account.

(b) Purchase Book total was overcast by Rs. 4,000.

(c) Sales Book total was undercast by Rs. 500.

(d) Purchase Returns Book total was undercast by Rs. 150

(e) Cash received from Gopal Rs. 1,000 was posted to his account as Rs. 10,000.
(f) Cash paid to Ramu Rs. 7,000 was posted to his account as Rs. 700

The Trial Balance of Sukesh on 31-03-2018 was as under:

Particulars Dr. (Rs.) Cr. (Rs.)

Capital & Drawings 6,000 1,80,000

Plant & Machinery on 1-4-2017 70,000

Plant & Machinery on 1-10-2017 5,000

Stock on 1-4-2017 65,000

Purchases & Sales 1,82,000 2,20,000

Returns 2,000 1,000

Furniture 5,000

Debtors & Creditors 30,600 20,000

Carriage outwards 500

Freight & Duty 2,000

Trade Expenses 800

Printing & Stationery 400

Rent, Rates & Taxes 4,800

Postage 600

Reserve for bad debts --- 800

Insurance 700

Wages & Salaries 21,300

Cash in hand 6,200

Cash at bank 20,500

Rent by sub-letting premises | = --—-- 1,600
4,23,400 4,23,400

Adjustments:

(i) Stock on 31-03-2018 Rs.14,000

(i1) Write off Rs. 600 as bad debt

(ii1) Reserve for bad debts at 5%

(iv) Depreciation 5% on furniture and 20% on Plant & Machinery.

Prepare Final Accounts with the above information. [PT.O
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (I Semester) Examination
FINANCIAL ACCOUNTING - II
Paper I
(Old & New)
(CBCS)
Time : 2 Hours] [Max. Marks : 80
Answer any four questions, including Q.No.1, which is compulsory.
(Marks: 4 x 20 = 80)
1. Answer any two questions in short-form: (2 x10=20)

(a) Define Bill and write the features of Bill.

(b) Write the differences between Consignment and Sales.

(¢) X and Y took up a Joint Venture jointly. X bought goods for Rs. 1,00,000 and
sold the same to Y incurring freight of Rs. 5,000. Y sold a part of the goods for
Rs.1,40,000 incurring Rs. 7,000 towards selling expenses. Rs. 10,000 worth of
goods remain as on the date. Prepare Joint Venture Account in the books of X.

(d) Mr. Srikanth does not maintain proper books of account. From the following
information relating to him, prepare a statement showing the Profit/Loss made

by him:
Details 1-4-2017 (Rs.) 31-3-2018 (Rs.)
Bank 30,000 30,000
Debtors 40,000 90,000
Stock 60,000 64,000
Investments 1,00,000 1,60,000
Creditors 34,000 40,000
Furniture 30,000 70,000
Bills Payable 12,000 16,000

He drew Rs. 2,000 p.m. from business. He also withdrew Rs.12,000 from business
to pay his daughter's college fee. Provide depreciation on furniture @ 10% p.a.
and create a provision of 4% on debtors.

(e) Write the differences between Receipts & Payments A/c and Income &
Expenditure A/c.

2.  What is Renewal of a Bill? Write journal entries relating to Renewal of a Bill in
the books of Drawer.

3. Adraws a three-month bill for Rs. 60,000 upon B. After obtaining acceptance from
B, the bill was endorsed to C in settlement of his debt. C discounted the bill at
12% p.a. The bill is dishonoured on the due date. Pass necessary journal entries in
the books of A, B and C.

4. Define Consignment. Write the journal entries in the books of Consignor and
Consignee.

5. Nexa Limited sent 100 sewing machines on consignment basis to Ravi. The cost of
each machine was Rs.3,000, but the consignor prepared the proforma invoice at 25%
above the cost. The company spent Rs.4,000 on packing.

[P.T.O.
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While taking delivery of the machines, Ravi had to spend Rs.1,900 as freight, Octroi
and Cartage. By the end of the year, Ravi sold 80 machines @ R. 4,100 per machine.
He paid Rs.2,200 as godown rent. He was entitled to a commission of 5% on sales.
Prepare Consignment Account and Ravi's Account.

What is Joint Venture? Write its features. Write the differences between Joint Venture
and Consignment.

A and B enter into a Joint Venture, agreeing to share profits and losses in the ratio of
4:1 respectively. A supplies goods to the value of Rs.50,000 and incurs expenses
amounting to Rs. 4,000. B supplies goods to the value of Rs.40,000 and his expenses
amount to Rs.3,000. B sells goods on behalf of the Joint Venture for Rs. 1,20,000
charging commission @ 5% of value realised. The amount due is settled by bank
draft.

Show the necessary accounts in the books of both the parties.
Write the differences between Single Entry System and Double Entry System.

A retailer keeps his books under Single Entry System. He supplies the following
information to you. Prepare Statement of Profit or Loss and revised Statement of
Affairs as on 31-12-2018:

Particulars 1-1-2018 (Rs.) 31-12-2018 (Rs.)
Stock 33,400 37,000
Creditors 30,800 28,000
Debtors 22,400 21,000
Cash 500 2,400
Bank Overdraft 40,400 38,800
Bills Receivable 30,100 28,400
Furniture 3,000 3,000
Machinery 3,800 3,800

The drawings during the year amounted to Rs. 5,200. Depreciate furniture by 10%.
Write off Rs. 600 from machinery. Debtors include Rs. 1,000 bad debts. Make
provision for doubtful debts at 5% on debtors.

Give brief description of the following with respect to the Accounts of Non-trading
concerns:

(a) Non-profit Organisation

(b) Subscriptions

(c) Donations

(d) Life Membership Fee

(e) Capital Fund

(f) Legacies.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (II Semester) Examination
INCOME TAX -1
Paper I11
(CBCS)

Time : 2 Hours| [Max. Marks : 80

o

Answer any four questions including Q.No.1 which is compulsory.
(Marks: 4 x 20 = 80)

Answer any two questions in short-form. (2x10=20)
(a) Previous Year - Explain.

(b) Subsequent operations of agriculture

(c) Profit in lieu of salary — Explain.

(d) Annual value — Explain.

(e) Deemed profits — Explain with example.

Explain the difference between Direct and Indirect Taxes.

Explain any ten items which are fully exempted from Income-tax.

What is agricultural income and how it is treated for tax purpose?

Explain partly agricultural and partly non-agricultural income.

What are the incomes which are chargeable under the head 'Salary'? Explain.

Mrs. Kritika is working in a Ltd. Co. From the following particulars of previous
year, calculate her income from salary.

Basic Pay Rs. 30,000 p.m.

D.A. Rs. 5,000 p.m.

C.C.A.Rs. 2,000 p.m.

Rent-free accommodation is provided.

Rent paid by the employer is Rs. 5,000 per month.
Telephone bill is paid by the company Rs. 6,000 p.a.
She paid professional tax Rs. 2,400.

Explain the provisions regarding computation of income from house property if the
house is let out.

[P.T.O.
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Mr. Radheshyam owns a house in Hyderabad. He has let out the house on a monthly
rent of Rs. 12,000. Municipal value is Rs.6,000 p.m. and Fair Rental Value is Rs.8,000
p.m. During the previous year, he paid 8% Municipal taxes and repairs Rs. 2,000.
He paid 5% interest on loan of Rs.10,00,000 taken to purchase the above house.

Compute the income from house property for the current Assessment Year.

What are the important deductions which are allowed while computing income under
the head 'Profits and gains of business or profession'.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (IV Semester) Examination
INCOME-TAX - 1T
Paper I11
(CBCS)
Time : 2 Hours| [Max. Marks : 80

Answer any four questions, including Q.No.1 which is compulsory.
(Marks: 4 x 20 = 80)

1. Attempt any two questions in short-form: (2x10=20)
(a) Write in brief about the types of Capital assets.
(b) Calculate Capital Gain from the following particulars:

Sale consideration of a residential house is Rs. 26,00,000 on 01-11-2019
(CII: 1125). Cost of acquisition of house on 15-09-2007 is Rs. 7,00,000
(CII: 497). New residential house acquired on 31st January 2019 is Rs. 7,20,000.

(¢) Explain transfer and deemed transfer.

(d) Deduction u/s 80E.

(e) Assessment of individuals.

Explain various exemptions available under the head 'Capital Gains'.
3. Compute Capital Gains of Samyuktha from the following information:

The CII for 2019-20 = 1125.

Particulars House Gold
Date of Purchase 11-03-1984 01-07-1994
Date of Sale 01-02-2017 02-03-2017
Cost of acquisition Rs. 3,50,000 Rs. 2,20,000
Sale Price Rs. 35,00,000 Rs. 17,50,000
Selling expenses 5% 10%
Re-investment in similar asset 25,00,000 2,50,000
ClI 116 259

Explain the provisions regarding 'Gift Received'.
5. Calculate the interest on securities from the following:
(a) 12% of Central Govt. loan - Rs. 16,000
(b) 15% tax-free commercial securities - Rs. 70,000 (not listed)
(¢) 10% tax-free Reliance debentures (listed) - Rs. 30,000
(d) 8% National Savings Certificates - Rs. 60,000
(e) Collection charges - Rs. 2,000
[P.T.O.
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Discuss on the provisions of Income-Tax Act, 1961 regarding set off and carry forward
of losses.

Compute total income of Mr. Pradeep for the assessment year 2019-2020.

(a) Income from Salary Rs. 1,50,000

(b)  Income from house property Rs. 1,20,000

(c)  Loss from self-occupied house Rs. 30,000

(d) Long-term Capital loss Rs. 40,000

(e)  Short-term Capital gain Rs. 30,000

(f)  Contribution to PPF Rs. 16,000

(g)  LIC Premium paid Rs. 24,000

(h)  Medical Insurance premium paid Rs. 30,000

(1)  Donation to PM National Relief Fund Rs. 12,000.

Explain the procedure relating to computation of taxable income of an Individual.
Compute tax liability of Mr. Vishal from the below given particulars:

(a) Income from Salary - Rs. 2,40,000

(b)  Rent from house property - Rs. 1,80,000
(c)  Business Profits - Rs. 3,40,000

(d) Long-term Capital losses - Rs. 60,000
(e)  Short-term Capital gains - Rs. 1,40,000
(f)  Lottery winning - Rs. 1,00,000 (gross)
(g) LIC Premium paid - Rs. 18,000

(h)  Medical Claim paid - Rs. 15,000

(i)  Donation to Jawaharlal Nehru Memorial Trust - Rs. 16,000
(G)  Agency Commission - Rs. 40,000

(k)  Underwriting Commission - Rs. 60,000

What are the various types of assessments?
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (I Semester) Examination
COMPUTERS
Paper IV
(Information Technology)
(Common for Regular)
(01d)
(Under CBCS)

Time : 2 Hours] [Max. Marks : 80/60

A e A

Answer any four questions, including Q. No. 1.
(Marks: 4 x 20 = 80) (Regular)
(Marks: 4 x 15 =60 ) (Computers)

Attempt any two/three questions in short-form: (2 x 10 =20) (Regular)
(3 x5 =15) (Computers)

(a) What is a Computer? Give its various parts?

(b) What is an Operating System?

(c) How do you create, save and print a document?

(d) Cell, Cell pointer and Cell Address.

(e) How do you create a macro in MS Excel?

(f) What are the types of slides?

Describe the basic components of a computer system.

Explain various types of computer system.

What is DOS? Explain its various internal and external commands.

What is Control Panel? Explain its various components.

Explain briefly various menu bar tabs of MS Word.

Discuss the mail merge feature in MS Word.

What are the various mathematical functions of MS Excel?

Explain the various charts and graphs available in MS Excel.

10. What is Internet? Explain various services available on internet.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (II1 Semester) Examination
COMPUTERS
Paper IV
(Programming with 'C")
(CBCS)

Time : 2 Hours] [Max. Marks : 60

8.

9.

Answer any four questions, including Q. No. 1.
(Marks: 4 x 15 =60)

Attempt any three questions in short-form: (3x5=15)
(a) What is a Constant?

(b) What are the Relational Operators in C?

(c) What is the use of ‘I\0’ function?

(d) What is Call by Value?

(e) What is the use of strcpy() function?

(f) What is a Structure and give its syntax.

What is variable in C and explain various types of variables?

Discuss briefly various types of data types in C.

Explain Implicit and Explicit types of conversions.

Describe 'while statement, do.. while statement and for Loop statement' in C.
Explain declaration, initialization and accessing of an array with an example.
What is string? Explain the different string functions used in C.

What do you mean by I/O functions and explain various types of I/O functions?

Explain function prototyping.

10. Explain the concept of pointer with an example.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (VI Semester) Examination
COMPUTERS
Paper VI
(Relational Database Management)

(CBCS)

Time : 2 Hours] [Max. Marks : 60

8.

9.

Answer any four questions, including Q. No 1 which is compulsory.

(Marks: 4 x 15 =60)

Attempt any three questions in short-form: (Marks: 3 x 5=15)
(a) What do you mean by Tuple, Attribute, Domain and Relation?

(b) What do you mean by file organization?

(c) List out DML commands.

(d) What is Deadlock?

(e)
09

What is Distributed Database?

What are the kinds of failures?

Discuss various types of relational keys.

Explain types of Entities and also types of Attributes.

Explain INF, 2NF and 3NF with an example.

Explain different types of Indexes.

Discuss various DDL commands.

Explain Order-by clauses, Group-by clauses, Having clauses and Where clauses.

What is a Lock? Explain different types of Locks.

Explain the three levels of database backup.

10. Explain the advantages and disadvantages of DDBMS.
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FACULTY OF COMMERCE & BUSINESS MANAGEMENT
B.Com. (IV Semester) Examination
SKILL ENHANCEMENT COURSE - 11

(Soft Skills)
Time : 2 Hours| [Max. Marks : 40

Section A — (Marks: 4 x 4 =16)

(Short Answer Questions)

1. Answer any four of the following:
(a) Define Personality.
(b) What do you mean by Self-Esteem?
(c) Explain ‘Active Learning’.
(d) Write a short note on ‘Attitude Development’.
(e) What is ‘Emotional Intelligence’?
(f) What is ‘anxiety’? Explain briefly.

Section B — (Marks: 2 x 12 =24)
(Essay Type Questions)

Answer the following questions.
2. (a) Explain the characteristics and determinants of Personality.
Or
(b) What is Learning? Elucidate the Principles of Learning.
3. (a) Whatis Attitude? Discuss about various types of Attitude.
Or

(b) What is Motivation? Explain any two motivational theories.

[P.T.O.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (VI Semester) Examination
MANAGERIAL ACCOUNTING
Paper I
(CBCS)
Time : 2 Hours] [Max. Marks : 80

Answer any four questions, including Q.No. 1.
(Marks: 4 x 20 = 80)

1. Answer any two questions in short-form. (2 x10=20)
(a) Write the features of Managerial Accounting.

(b) From the following data, calculate the break-even point:

Selling price per unit Rs. 40
Direct Material Cost per unit Rs. 16
Direct Labour Cost per unit Rs. 4
Direct Expenses per unit Rs. 4
Variables Overhead per unit Rs. 6
Fixed overheads (total) Rs. 40,000

If sales are 20% above break-even point, determine net profit.

(c) Aravind Ltd. produces 2,00,000 units of Product ‘D’ at a total cost of Rs.25,00,000
including Rs. 10 per unit of variables cost. The selling price is Rs. 15 per unit.
On account of recession, demand has fallen and Aravind Ltd. has to cut the selling
price by 20%. The management wants to know if the factory should be shut
down till the demand picks up again.

(d) Write the objectives of budgetary control.

(e) Explain the components of Working Capital.
2. Define Managerial Accounting. Write its advantages and limitations.
3. Write the distinction between Financial Accounting and Managerial Accounting.

4. Write the advantages and limitations of Marginal Costing.

[P.T.O.
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In a recent period, X company had the following experience:

Rs.
Sales (10,000 units @ Rs.200) 20,00,000
Costs: Fixed Variables
Rs. Rs.
Direct Material 2,00,000
Direct Labour 4,00,000
Factory overheads 1,60,000 6,00,000
Administrative Expenses 1,80,000 80,000
Other expenses 2,00,000 1,20,000
Total costs 5,40,000 1,40,000  19,40,000
Net earnings 60,000
Required:

(a) Calculate break-even point for X in units and in rupees. Show your calculations
and use the contribution margin ratio to find the rupee break-even.

(b) What sales rupees would be required to generate a net income of Rs. 96,0007

(c) What will be the break-even point in units if fixed costs are increased by
Rs.18,000?

Explain the following:
(a) Add or Drop products
(b) Key Factor or Limiting Factor.

In an oil mill, four products emerge from a refining process. The total cost of inputs
during the quarter ending March 1983 is Rs. 1,48,000. The output, sales and additional
processing costs are as under:

Product Output Additional processing cost  Sales Value
(Litres) after split-off point Rs. Rs.
AOXE 8,000 43,000 1,72,500
BOXE 4,000 9,000 15,000
COXE 2,000 - 6,000

DOXE 4,000 1,500 45,000
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In case these products were disposed of at the split-off point, that is before further
processing, the selling price would have been:

AOXE Rs. 15.00; BOXE Rs. 6.00; COXE Rs. 3.00, DOXE Rs. 7.50
Prepare a statement of profitability based on the following facts:
(a) If the products are sold after further processing is carried out in the mills.
(b) Ifthey are sold at the split-off point.
Discuss about various budgets.

From the given particulars presented by P Ltd., you are asked to prepare a Materials
Budget. Estimated sales 50,000 units. (Each unit of the production requires 2 units of
material X and 4 units of material Y).
Estimated Opening Balance

Finished goods 10,000 units

Material-X 15,000 units

Material-Y 25,000 units
Estimated on Order (Opening)

Material-X 8,000 units

Material-Y 12,000 units
Estimated Closing Balance

Finished goods 6,000 units

Material-X 16,000 units

Material-Y 30,000 units
Materials in Order (Closing)

Material-X 6,000 units

Material-Y 8,000 units

. Prepare an estimate of Working Capital requirements from the following information
of a trading concern:

(a) Projected annual Sales 1,00,000 units
(b) Selling Price Rs. 8/- per unit
(c) Percentage of net profit on sales 25%
(d) Average Credit Period allowed by suppliers 4 weeks
(e) Average Credit Period allowed to suppliers 8 weeks

(f) Average Stock holding in terms of sales requirement 12 weeks

(g) Allow 10% for contingencies.

[P.T.O.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (VI Semester) Examination
COMPUTERS
Paper V
(Web Technology)
(Under CBCS)

Time : 2 Hours| [Max. Marks : 60

® N kWD

Answer any four questions, including Q. No. 1.
(Marks: 4 x 15 =60)

Attempt any three questions in short-form: (3x5=1))
(a) Define types of Tags used in HTML.

(b) What is URL?

(c) What is DHTML?

(d) Distinguish between Client-side and Server-side Scripting.

(e) What is event handling in JavaScript?

() What is XML?

Explain the steps involved in creation of a basic HTML document.
Define lists. Explain different types of lists used in HTML.

Explain various Border properties in CSS.

Explain various CSS filter functions to create multimedia effects.
Explain the various Iterative statements used in JavaScript.

What is a function and explain various built-in functions in JavaScript?
Explain with suitable examples:

(a) onabort.

(b) onKeyDown, onKeyUp and onKeyPress.

(c) onsubmit.

Explain with suitable examples:

(a) onMouseMove and onMouseUp.

(b) onSelect and onReset.

10. Explain the building blocks of an XML document.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (VI Semester) Examination
COMPANY LAW
Paper 11
(CBCS)

Time : 2 Hours| [Max. Marks : 80

e U A

10.

Answer any four questions, including Q.No. 1.

(Marks: 4 x 20 = 80)

Answer any two questions in short-form. (2x10=20)
(a) What is Articles of Association? Discuss.

(b) Write a detailed note on Corporate Governance.

(c) What is meant by Secretarial Audit? Explain.

(d) Explain Extraordinary General Body Meeting.

(e) Enumerate the consequences of Winding up.

Define Company. Write its characteristics.

What is Prospectus? Specify the items that it contains.

Discuss the qualifications and disqualifications of a Director as per Company Law.
Write the mode of appointment, removal and remuneration of a Managing Director.
Elaborate the duties and liabilities of a Company Secretary.

Write the detailed procedure relating to the appointment of a Company Secretary.
Explain the following:

(a) Proxy

(b) Agenda

(¢) Quorum.

Discuss about various types of Shareholders Meetings.

What do you mean by Winding up? Explain about Voluntary Winding up.

[P.T.O.
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FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
BIOTECHNOLOGY
Paper 11
(Biological Chemistry and Microbiology)
(New)
(Under CBCS)

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

Explain the structure and functions of DNA.

What is Competitive Enzyme inhibition? Illustrate with appropriate examples.
Describe the B-oxidation of fatty acid metabolism.

Give a short note on Transamination.

Explain the importance of Fluorescent microscope.

Give a brief note on general characteristics of virus.

What is bacterial growth curve?

What kind of factors are affecting on bacterial growth?

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

Write an essay on the classification of amino acids with examples.
Explain the TCA cycle pathway in detail.
Write an essay on classification of mircroorganisms.

Write an essay on the physical and chemical methods of sterilisation.

80
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FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
Z0OOLOGY
Paper 11
(Animal Diversity — Vertebrates)
(New)

(CBCS)

Section A — (Marks: 4 x 10 =40)
Answer any four questions.
Explain the structure and affinities of Balanoglossus.
Write about general characters of Cyclostomata with suitable examples.
Explain various types of scales in fishes.
Give a brief account of parental care in Amphibians with suitable examples.

Explain different temporal fossae in Reptiles and write a brief note on its
evolutionary significance.

Discuss about general characters of birds.
Give a general account of Aquatic adaptations in Mammals.

Explain general characters of Mammalia.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

80

What is Retrogressive Metamorphosis? Explain it in Urochordates. Add a note on

its significance.
Describe respiratory systems in Frog.
Discuss about migration in Aves.

Explain the digestive system in a Rabbit.

[P.T.O.
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FACULTY OF SCIENCE
B.Sc. (IIT Semester) Examination
ZOOLOGY
Paper I11
(Animal Diversity — Vertebrates and Developmental Biology)
(CBCS)
Time : 2 Hours| [Max. Marks : 80

Section A — (Marks: 4 x 10 = 40)

Answer any four questions.
1. Cephalochordata.
2. Write the differences between petromyzon and myxine.
3. Write the general characters of Amphibia.
4. Neotony.
5. Explain respiratory system in columba livia.
6. Flight adaptations in Birds.
7. Fertilization.

8. Types of Cleavage.
Section B — (Marks: 2 x 20 = 40)

Answer any two questions.
9. Respiratory system in Scoliodon.
10. Identification of poisonous and non-noisonous snakes.
11. Digestive system in Rabbit.

12. Formation of foetal membranes in chick embryo.

[P.T.O.
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FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
ZOOLOGY
Paper I
(Animal Diversity — Invertebrates)
(New)
(Under CBCS)
Time : 2 Hours] [Max. Marks : 80

Section A — (Marks: 4 x 10 = 40)
Answer any four questions.

1. Explain different locomotory organelles of protozoa.
Write about general characters of porifera.

Describe about life history of Dracunculus.

Discuss in brief about polymorphism in siphonophora.
Explain the general characters of phylum Annelida.
Give an account on Insect metamorphosis.

Write about formation of Pearls.

© =N kR

Describe about Echinoderm larvae and their evolutionary significance.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

9. Describe the canal system in sponges.
10. Explain the life cycle of obelia.
11. Describe the circulatory system in prawn.

12. Explain the digestive system of pila.

[P.T.O.



10.

I1.

12.

2 47931

TELUGU VERSION
DETPRB0 A — (330,00 1 4 x 10 =40)

DD TV (50K DHTEHIN [FPAIH.
[RPES°E TS DD 8570 KdPoNH0ed) HBoHos.
00" BYHO AGEs OFEIVVO [HPOVDH0.
(50500 2I%H VBB IHBoWOE.
RIS BYHOSD WITVEIHEBR HJomr 9HB0DH0.
9O DG FpeSes OFEIVNOR ROV,
§eosre ErrRroB8) AETTERRLT 9580D906.
VTR0 )% DFPRHVR HFodod.

APy 2o TR HGod T DB PeRNYGH HHBoDod,

DerKS0 B — (3078000 : 2 x 20 = 40)
DDD Bodd [H%)0Ld DHTFIH0) [FPA0D.
Qose FHoS D Herg SgI9 dHBovok.
2D BB HEH0B0 HB0WOE.
5oty Y (H08Es D599%0 SBobod.

RO B, BY SV d5B0B0G.




2978/5

FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
ZOOLOGY
Paper I
(Animal Diversity - Invertebrates)
(01d)
Time : 2 Hours| [Max. Marks : 80
Section A — (Marks: 4 x 10 =40)
Answer any four questions.
Ciliary Locomotion in Protozoa
Canal system in Sponges
Corals and Coral reef formation
Write about life cycle of Dracunculus.
Write general characters and classification of Annelida.
Structure and affinities of Peripatus.

Structure and affinities of Balanoglossus.

© N kWD =

Explain Pearl formation in grastopods.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.
9. Write an essay on “Reproduction in Protozoa”.
10. Write an essay on life cycle of Schistosoma hematobium.
11. Write an essay on digestive system of Leech.

12. Explain water vascular system in Starfish.

[P.T.O.
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FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
MICROBIOLOGY
Paper 11
(Bacteriology)
(0l1d)
Time : 2 Hours] [Max. Marks : 80

Section A — (Marks: 4 x 10 = 40)
Answer any four questions.
1. Cell wall structure
Plasmids
Sporulation
Phototrophs
Specific growth rate
Bacterial taxonomy

Economic importance of Archaebacteria

S A L T e

Gammaproteobacteria.

Section B — (Marks: 2 x 20 = 40)

Answer any two questions.
9. Discuss on morphology and structure of bacteria.
10. Write an essay on nutritional diversity in bacteria.
11. Give a general account on molecular and recent approaches in bacterial taxonomy.

12. Write a general essay on Eubacteria and their types.



2906/5

FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
BOTANY
Paper 11
(Bryophytes, Pteridophytes, Gymnosperms and Palaecobotany)
(Old)
Time : 2 Hours] [Max. Marks : 80
Section A — (Marks: 4 x 10 =40)

Answer any four questions.

1. Marchantia Antheridiophore L.S.
2. Anthoceros Thallus V.S.

3. Rhynia

4. Lycopodium Stem T.S.

5.  Gnetum male cone

Pinus female cone

=N o

Bennettitales

8. Importance of fossils.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

9. Describe the Polytrichum Sporophyte L.S.
10. Write an essay on stelar evolution in Pteridophyta.
11. Explain about the male and female gametophyte development in Pinus.

12. Write an essay on geological time-scale.

[P.T.O.



10.

I1.

12.

2 2906/5

TELUGU VERSION
DETPRB0 A — (330,00 1 4 x 10 =40)

DD TV (50K DHTEHIN [FPAIH.
DIBYNAT W0GBEBIPES” DeVYE'S
29085 08 Trow Do) §%%
305"
BE PG00 500 WEE'S

DI YA F0a0Y)

e L@v:ﬁoo%é.

DgrKd0 B — (3578000 1 2 x 20 = 40)
DDD BoE) [H%)0L0 DHTFID0 [FPA0D.
29 PES DEDests DYEBH> dHBoBoE.
BBEPerS’ (9388 [ods HBEFR00 M8y g T°000G.
PORNS® Y, DOA V0TI Dests e  1°8) 25BoVOE.

g0y SPORI°R X)egé K8y egdR0 o°0008%.




Time : 2 Hours| [Max. Marks :
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FACULTY OF SCIENCE
B.Sc. (IV Semester) Examination
ZOOLOGY
Paper IV
(Cell and Molecular Biology - Genetics and Evolution)
(Under CBCS)

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

Describe the ultra structure of Animal Cell.

Explain about the cell cycle and its regulation.

Write an account on structure and replication of DNA.

Explain about the Genetic Code and operon concept.

Explain about Mendal’s Laws of Inheritance.

Give an account on induced and spontaneous gene mutations.

Explain about the evolution theory of Lamarckism and Neo-Lamarckism.

Describe Hardy-Weinberg law.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

Explain about the structure and functions of plasma membrane.
Define RNA. Explain the structure and types of RNA.
Explain about the sex determination and sex-linked inheritance.

Write an essay on Darwinism and Neo-Darwinism theories of evolution.

80

[P.T.O.
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Time : 2 Hours] [Max. Marks -
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10.

I1.

12.

4803

FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
BIOTECHNOLOGY
Paper I
(Cell Biology and Genetics)
(Under CBCS)

(New)

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

Write a note on chromosome structure.
Describe the membrane models.
Differences between mitosis and meiosis.
Explain cell cycle phases.
Write a note on bacterial cell division.
Describe about sex determination in drosophila.
Explain linkage and crossing over.
Explain cytoplasmic male sterility.
Section B — (Marks: 2 x 20 = 40)
Answer any two questions.
Write an essay on eukaryotic cell structure.
Explain about meiosis stages and its significance.

Write an essay on X-linked inheritance with suitable examples.

Describe in detail about mitochondrial inheritance.

80



2989/5

FACULTY OF SCIENCE

B.Sc. (I Semester) Examination
BIOTECHNOLOGY
Paper I
(Cell Biology and Genetics)
(Old)
(Under CBCS)
Time : 2 Hours] [Max. Marks : 80

Section A — (Marks: 4 x 10 =40)

Answer any four questions.

1. Semi-autonomous cell organelles.

2. Plant and animal cell structure.

3. Eukaryotic chromosome structure.
4. Cell cycle control.

5. Mendel’s laws.

6. Multiple alleles.

7. Phenocopies.

8.

Mechanism of sex determination.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

9. Explain ultra-structure of prokaryotic cell.
10. Describe in detail about giant chromosomes.
11. What is gene interaction? Write in detail about different gene interactions.

12. Write an essay on linkage and recombination.
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FACULTY OF SCIENCE
B.Sc. (VI Semester) Examination
CHEMISTRY
Paper VIII (a)
(Medicinal Chemistry)
(CBCS)

Time : 2 Hours| [Max. Marks : 80

A

10.

I1.

12.

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

Define the following terms:
(a) Metabolite (b) Pharmacophore
(c) Drug (d) Therapeutic index
Write about classification of Drugs based on structure and therapeutic activity
with examples.
What are enzyme inhibitors? Write about their importance.
What are receptors? Explain lock and key model of receptors.
Explain the synthesis and therapeutic activity of Cisplatin and Sulphanilamide.

What are antidiabetic, anti inflammatory, antipyretic and antacid drugs? Explain them
with examples.

Explain about the following drugs with suitable examples:
(a) Antithyroid drugs (b) Adrenergic drugs
(c) Antiparkinson drugs (d) Serotinins
What are micronutrients? What is the biological significance of Na and 1?
Section B — (Marks: 2 x 20 = 40)
Answer any two questions.
Write an essay on ADME of Drugs.
(a) Discuss about agonists and antagonists with suitable examples.
(b) Explain the binding role of -OH and —~NH, groups and quaternary ammonium
salts.
(a) Write synthesis and therapeutic activity of sulphanilamide.
(b) What are anesthetics? Classify them and give examples.
(a) What are harmones and neurotransmitters? Explain antithyroid drugs with
examples.

(b) Write about sources and deficiency disorders of A,B,E and K Vitamins. o
P.T.O.
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4856

FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
MICROBIOLOGY
Paper 11
(Microbial Physiology and Biochemistry)
(New)
(CBCS)
Time : 2 Hours] [Max. Marks : 80
Section A — (Marks: 4 x 10 = 40)
Answer any four questions.
1. Autotrophs.
Biphasic growth.
Anoxygenic phototrophic bacteria.
Glyoxylate cycle.
Essential amino acids

Lock and key model.

pH measurement

L o

Thin Layer Chromatography.

Section B — (Marks: 2 x 20 = 40)

Answer any two questions.
9. Give a detailed account on different nutritional groups of microorganisms.
10. Explain a detailed process of electron transport mechanism.
11. Discuss on the classification of amino acids.

12. Write a detailed essay on the principles and applications of Electrophoretic Techniques.
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FACULTY OF SCIENCE
B.Sc. (IV Semester) Examination
BIOTECHNOLOGY
Paper IV
(Microbiology and Immunology)
(Under CBCS)
Time : 2 Hours] [Max. Marks : 80

Section A — (Marks: 4 x 10 =40)

Answer any four questions.

1. Microalgae.

Preservation of microorganisms.
Nutrient transport in bacteria.
Measurement of cell mass.
Immune cells.

Types of MHC.

Cytokines.

N A o

Hypersensitivity.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

9. What is sterilant? Explain different sterilization techniques.

10. What is growth curve? Explain batch and continuous culture with reference to
synchronous culture.

11. Write an essay on immune organs.

12. Define disease and write about autoimmune diseases.
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FACULTY OF SCIENCE
B.Sc. (IV Semester) Examination
MICROBIOLOGY/INDUSTRIAL MICROBIOLOGY
(Common)
Paper IV
(Microbial Genetics)
(CBCS)
Time : 2 Hours] [Max. Marks : 80

Section A — (Marks: 4 x 10 = 40)
Answer any four questions.

1. Structure of DNA.
Plasmids.

Bacterial transformation.
DNA damage.

Concept of gene.
Genetic code.

Lac operon.

© N kRN

Restriction endonucleases.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

9. Write an essay on meiotic cell division and its importance.
10. Give a detailed account on different types of mutations.
11. Discuss in detail on RNA biosynthesis and its functions.

12. Give a general account on rDNA applications in industry, agriculture and medicine.
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FACULTY OF SCIENCE
B.Sc. (VI Semester) Examination
BOTANY
Paper VII
(Plant Physiology)
(CBCS)

Time : 2 Hours] [Max. Marks : 80

Section A — (Marks: 4 x 10 = 40)

Answer any four questions.
1. Transpiration
2. Macro elements
3. Properties of enzymes
4. Hill's reaction
5.  Glycolysis
6. P - Oxidation
7.  Function of auxins
8. Photoperiodism.

Section B — (Marks: 2 x 20 = 40)

Answer any two questions.
9. Structure of stomata and explain K™ ion influx mechanism.
10. Explain about C, cycle for the synthesis of carbohydrates in photosynthesis.
11. Write an essay on protein biosynthesis.

12. Define Phytohormone. Describe the role of Gibberellins in plant growth and
development.

[P.T.O.
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FACULTY OF SCIENCE
B.Sc. (VI Semester) Examination
ZOOLOGY
Paper VII
(Immunology and Animal Biotechnology)
(Under CBCS)

Time : 2 Hours| [Max. Marks : 80

10.
I1.

12.

Section A — (Marks: 4 x 10 = 40)

Answer any four questions.
Explain the structure and functions and types of Antibodies.
Explain about the B cells and T cells.
Define hypersensitivity. Add a note on types of hypersensitivity.
Explain about different types of vaccines.
Explain about the plasmids, cosmids and Lambda bacteriophage of cloning vectors.
Describe about the applications of cell culture techniques.
Explain about different types of stem cells and their application.

Give an account on production of Transgenic animals.

Section B — (Marks: 2 x 20 = 40)

Answer any two questions.
Explain about the Monoclonal antibodies and their applications.
Describe the structure and functions of major histocompatibility complex.
Explain about the applications of cell culture techniques.

Explain about the Recombinant DNA Technology and its applications.

[P.T.O.
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FACULTY OF SCIENCE
B.Sc. (VI Semester) Examination
CHEMISTRY
Paper VII
(CBCS)

Time : 2 Hours| [Max. Marks : 80

A

o

10.

I1.

12.

Section A — (Marks: 4 x 10 = 40)
Answer any four questions.

Explain Labile and Inert complexes with examples.

What is Pearson's concept of HSAB principle? Write its applications.
Explain Iso electric point and zwitter ion with example.

Explain the terms mutarotation, Anomers and Epimers.

(a) Derive C,—-C, =R

(b) Write a short note on Isothermal and adiabatic processes.
Explain Carnot cycle and derive an expression for efficiency of heat engine.
Explain the following:

(a) Molecular ion peak

(b) Fragment ion peak

(c) Isotopic peak

Derive Gibbs—Helmohltz's equation.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.
(a) Explain the ligand substitution reactions (SN'! and SN?) in octahedral complexes.
(b) Discuss the toxicity of Metals Arsenic (As), Mercury (Hg) and Lead (Pb).

(a) Explain the conversion of D-Glucose (Aldohexose) into D-Fructose (Ketohexose).
(b) What are a-amino acids? Give three methods of preparation of ai-amino acids.

(a) Derive an expression for adiabatic reversible expansion of an Ideal gas.
PV'= Constant.

(b) Explain the following and give examples:
(1) Extensive properties (i) Intensive properties
(ii1) State Function

(a) What is chemical shift? Explain the NMR spectrum of Ethyl bromide and
acetaldehyde.

(b) Derive AG = AH — TAS. Mention its significance. [PT.0
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FACULTY OF SCIENCE
B.Sc. (IIT Semester) Examination
CHEMISTRY
Paper I11
(CBCS)

Time : 2 Hours| [Max. Marks : 80

10.

I1.

12.

Section A — (Marks: 4 x 10 = 40)
Answer any four questions.

What is lanthanide contraction? Give the causes and consequences of lanthanide
contractions.
Explain the following types of reaction in liquid ammonia:
(a) Solvolysis (b) Complex Formation
Discuss Riemer-Tiemann and Schotten-Baumann reactions with mechanism.
Write the equation of Aldehydes and Ketones with following reagents:
(a) 2,4—DNP (b) HCN (©) Phenylhydrazene
Explain the phage diagram of water system.
Write a note on
(a) Tydall effect (b) Brownion movement
Write a short note on graphene and carbon nanotubes.
Write the conformers of n-butane and discuss their relative stabilities.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

(a) Explain the magnetic and color properties of Lanthanides.
(b) Explain the following terms with examples:

(1) plane of symmetry (o) (ii) proper axis of symmetry (C,)
(a) Write the reaction mechanism of Aldol condensation and Cannizaro reactions.
(b) Write a brief note on the following:

(1) Ziesel’s method (i1) Reaction of alcohols with Lucas reagent
(a) What is adsorption? Write the difference between physical adsorption and

chemical adsorption.
(b) Explain the following:

(1) Gold number (11) Peptization
(a) Write the Cohn-Ingold-Prelog (CIP) rules. Explain R, S configuration with
examples.

(b) Draw the conformers of 1, 2 - Dichloroethane and methyl Cyclohexane.
[P.T.O.
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FACULTY OF SCIENCE
B.Sc. (IV Semester) Examination
CHEMISTRY
Paper IV

Time : 2 Hours| [Max. Marks : 80

A

10.

I1.

12.

Section A — (Marks : 4 x 10 =40)
Answer any four questions.

Write the [IUPAC names of the following compounds:
(@) [K,[Fe (CN)] (b) LiAlH,
(¢) [N,C1,]2 (d) [CO (en), (NH;),] Cl,
(e) [Cu(NH,),]SO,.

Write the important postulates of Valence Bond Theory with examples.

Explain Mannich reaction and Michael addition reactions.

Explain Huns Dieker reaction and NEF reaction with example.

Explain and give application of “Kohlrausch Law”. A, values of HCl, CH;COONa,
NaCl are 425, 90, 1250 Ohm ™!, cm?, eq ! respectively. Calculate A, of CH;COOH.

Explain Arrhenius theory of electrolyte, dissociation and its limitations.

What are pericyclic reactions? Explain different types of pericyclic reactions with
example.

What are Enantioselective reactions and diastereo selective reactions. Give example.

(a)

(b)
(c)
(a)
(b)

(b)
(2)

Section B — (Marks : 2 x 20 = 40)
Answer any two questions.

Explain the preparation methods and synthetic application of Alkyl lithium
(R-Li).

What are metal carbonyls? Explain the classification of metal carbonyls.
Explain the Sidgwick's concept of EAN rule with example.
Explain Claisen condensation reaction with mechanism.

Explain the preparation of Malonic ester and give any two synthetic applications
of Malonic ester.

Define transport number and explain Hittorf’s method for the determination of
Transport number.

Write a short note on potentiometric titration.

Define and explain Target Molecule (TM), Disconnection, Synthon (SN),
Synthetic Equivalent (SE), Functional Group Interconversion (FGI) and
Retrosynthesis with example. [PT.O
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FACULTY OF SCIENCE
B.Sc. (III' Semester) Examination
BIOTECHNOLOGY
Paper I11
(Biological Chemistry)
(Under CBCS)

Time : 2 Hours| [Max. Marks :

© NS Rk w D

10.

I1.

12.

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

What is Glycosidic bond?
Explain the structure and biological importance of Cellulose.
What is Peptide bond? Explain with suitable examples.
Describe the Vitamins functions and applications.
Significance of Gluconeogenesis.
Describe the Glycolysis cycle pathway in detail.
Write the basic principles of Centrifugation.
Give a short note on SDS-PAGE.

Section B — (Marks: 2 x 20 = 40)

Answer any two questions.

Describe the structures and biological importance of Disaccharides. Explain with
suitable examples.

Describe enzyme nomenclature procedure according to Enzyme Commission.
Describe the B-oxidation of fatty acid metabolism.

Define Beer-Lambert law and explain how calorimeter works.

80
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FACULTY OF SCIENCE
B.Sc. Il Semester Examination

COMPUTER SCIENCE
Paper-I1
PROGRAMMING IN C++ (NEW)
(Under CBCS)
Time: 2 Hours] [Max. Marks: 80

SECTION-A
Answer any FOUR questions. (Marks: 4 x 10 = 40)

1. Write about the different data types available in C++.

2. Write about default arguments.

3. Explain about Destructor with suitable example.

4. Explain the difference between Instance and Static Member with example program.
5. Discuss about Access Specifiers in Detall.

6. Discuss about pure Virtual functions.

7. Write about STL.

8. Discuss about Function Template with suitable example program.

SECTION-B
Answer any Two questions. (Marks: 2 x 20 = 40)

9. Write down the Comparison between the Procedural and Object Oriented
Programming. Discuss about the featurs of object oriented programming.

10. Discuss in detail about the different types of Constructors with suitable example
program.

11. Discuss about function overloading with suitable example.

12. Discuss about the handling the multiple exception in C++ with suitable example.

*khkkkk
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FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
DATA STRUCTURES AND FILE PROCESSING
Paper 11
(Computer Science)
(Old)
(Under CBCS Scheme)

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

Write a note on the classification of Data Structures.
Write about the following Stack Applications.

(1) Expression Evaluation.

(i) Reversal of a String.

(ii1) Expression Conversion.

Write in brief about Queues.

Write about Single and Double Linked Lists.

List and explain the deletion cases applicable in Binary Search Tree.
Write about array based implementation of a Binary Tree.
Write about Random Access File Organization.

Write in detail about different Hashing techniques.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

80

Discuss about stacks implementation in detail with the help of linked list and Array.

What is meant by Recursion? How is it different from iteration? Explain its concept

using one recursive based program.

List and explain about the rotations performed during insertion and deletion operations

on AVL Tree.

Write in detail about Heap data structure and its types.
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FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
DATA STRUCTURES AND FILE PROCESSING
Paper 11
(Computer Science)
(Old)
(Under CBCS Scheme)

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

Write a note on the classification of Data Structures.
Write about the following Stack Applications.

(1) Expression Evaluation.

(i) Reversal of a String.

(ii1) Expression Conversion.

Write in brief about Queues.

Write about Single and Double Linked Lists.

List and explain the deletion cases applicable in Binary Search Tree.
Write about array based implementation of a Binary Tree.
Write about Random Access File Organization.

Write in detail about different Hashing techniques.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

80

Discuss about stacks implementation in detail with the help of linked list and Array.

What is meant by Recursion? How is it different from iteration? Explain its concept

using one recursive based program.

List and explain about the rotations performed during insertion and deletion operations

on AVL Tree.

Write in detail about Heap data structure and its types.
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FACULTY OF SCIENCE
B.Sc. (IIT Semester) Examination
COMPUTER SCIENCE
Paper I11
(Database Management System)
(Under CBCS)

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

List four different categories of the data models.

Give a short note a Relational Query Languages.

Write about mapping cardinalities and participation constraints.
Briefly explain Functional-Dependency Theory.

Differentiate between Centralized and Client-Server Architectures.
Write about Set Operations in SQL.

What are triggers? Explain briefly.

Write about transactions.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

With a suitable example, briefly explain database schema.

Give a brief note on Entity-Relationship Diagrams.

(a) Explain different types of Network.

(b) What are the several reasons for building distributed database systems?
(a) Briefly explain join expressions.

(b) List and explain Advanced Aggregation Features.

80
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FACULTY OF SCIENCE
B.Sc. (IV Semester) Examination
COMPUTER SCIENCE
Paper IV
(Design and Analysis of Algorithms)
(Under CBCS)

Time : 2 Hours] [Max. Marks : 80

S A

10.

I1.

12.

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

With the help of an example explain Strassen’s matrix multiplication in detail.

Using dynamic programming, explain the process involved in finding longest common
subsequence.

Write an algorithm to sort the numbers using merge sort.
State and explain the P, NP and NP complete problems.
[ustrate the Knuth Morris Pratt algorithm to find string matching.
Explain the approximation algorithm for vertex cover problem.
Explain the Depth first search algorithm with an example.
Explain the Prim’s algorithm to find minimal spanning tree.

Section B — (Marks: 2 x 20 = 40)

Answer any two questions.

Using greedy algorithm, explain the process involved in activity selection problem.
Explain the concept of decision trees in detail.

Describe the NP completeness and reducibility in detail.

Explain the Bellman Ford algorithm to find the single source shortest path.




4158/5

FACULTY OF SCIENCE
B.Sc. (IV Semester) Examination
SKILL ENHANCEMENT COURSE - 1I
(Multimedia and Applications)

(Under CBCS)
Time : 2 Hours] [Max. Marks : 40

Answer all questions in serial order.
Section A — (Marks: 4 x 4 =16)

1. Answer any four questions.

(a) List down the uses of multimedia.

(b) Explain the concept of hypertext with example.
(c) Discuss about various image file formats.

(d) State and explain about digital audio.

(e) Explain the video file formats in detail.

(f) What is animation? Mention its applications.

Section B — (Marks: 2 x 12 =24)

Answer the following.
2. (a) Describe the concept of Virtual Reality in detail.
Or
(b) Explain the concept of color palettes in detail.
3. (a) Describe the concepts involved in video shooting and editing.
Or

(b) Explain various animation techniques in detail.
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FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
COMPUTER SCIENCE
Paper I
(Object Oriented Programming With C++)
(Under CBCS)

Time : 2 Hours] [Max. Marks : 80

N A o

10.

I1.

12.

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

Define algorithm. Write an algorithm to find the sum of digits of a given number.
Write the structure of C++ program.

Explain about function overloading with suitable example.

Define a pointer. Discuss about different operations of a pointer.

Compare and contrast the structure with Union.

Discuss about friend function.

Write about pure virtual functions.

Explain about multi-level Inheritance.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

Discuss about the features of object-oriented programming.
Compare and contrast the function call by value and call by reference with example.
Discuss about constructor overloading with suitable example.

What are the uses of Templates? Discuss about the function of Templates in detail.
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FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
PROGRAMMING IN C
Paper I
(Computer Science)

(New)

(CBCS)

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

Differentiate Compiler and Interpreter.
What is Data type? Explain Data types in C.
Explain conditional or ternary operator.
Write about switch statement with example.
Explain scope of variable.

What is a pointer? Explain uses of pointers.
What are command line arguments?

Explain array of structure with example.

Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

What are the advantages and disadvantages of structured programming?
Explain Dynamic array with example.
Explain call-by-value and call-by-reference with example.

Explain file management functions with example.

80
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (I Semester) Examination
GENERAL ENGLISH
Paper I
(Old)

(Under CBCS)

Time : 2 Hours] [Max. Marks : 80

Answer any four of the following questions.
(Marks: 4 x 20 = 80)
Why does the old man leave the village in the story 'Old Man at the Bridge'?

Explain the relation between the old man and the animals in the story 'Old Man at
the Bridge'.

What, according to Dr. B.R.Ambedkar, are the three things for the successful
functioning of democracy in India?

What are Ambedkar's views on political and social democracy?

What are the magnificent creations of God presented in Walter De La Mare's poem
"The Scribe'?

How does the man become successful in appreciating the creation of God in the poem
"The Scribe'?

How does Jack defend in purchasing the house and other items on instalment basis in
the one-act play "The Never-Never Nest'?

Why did Aunt Jane refuse to sit on the furniture in the one-act play 'The Never-Never
Nest'?
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./ B.Com./B.B.A./ (I11-Semester) Examination
GENERAL ENGLISH
Paper 11 (New)

(Under CBCYS)

Time: 2 Hours] [Max. Marks: 80
Answer any FOUR questions (4 x 20 = 80 Marks)

1. Write the playful irony in the story ‘“With the Photographer’.
2. Comment on the photographer and his ways in the story ‘With the Photographer’.

3. Mlustrate the drawbacks lack in good manners projected in the essay ‘A Treatise on Good
Manners and Good Breeding’.

4. How can you evaluate Swift’s views in the essay ‘A Treatise on Good Manners and Good
Breeding’?

5. Describe the secluded life present in the poem ‘Ode on Solitude’.
6. Write about the theme of the poem ‘Ode on Solitude’.
7. Write about the events in the play ‘The Proposal’?

8. Briefly outline the plot in the play ‘“The Proposal’?
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (I Semester) Examination
GENERAL ENGLISH
Paper 11
(Under CBCS)

(Old)

Time : 2 Hours] [Max. Marks : 80
Answer any four of the following questions:
(Marks: 4 x 20 = 80)
1.  Why, according to the author, NRIs shuttle between India and America?
2. How did Dikshit help his villagers in the story 'The Reluctant Philanthropist'?
3. Why does Virginia Woolf ask the reader to become a writer's fellow-worker?
4. How can we appreciate the art of creative writers, according to Virginia Woolf?
5. What is the theme of the poem 'After Blenheim'?

6. What does the poet mean by saying that victory in war has no meaning in 'After
Blenheim'?

7. Write the summary of the one-act play "The Informer".

8. What does the play 'The Informer' tell about the conditions of the Nazi Germany?
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (IV Semester) Examination
GENERAL ENGLISH
Paper IV
Time : 2 Hours| [Max. Marks : 80

Answer any four questions.
(Marks: 4 x 20 = 80)

1.  Why was Ketu Shabar frequently in and out of jail in the story ‘Arjun’?

2. How could the tribes save the Arjun tree from the clutches of landlords in the story
‘Arjun’?

3. How did thinkers characterise the status of women in society in the essay ‘Woman’?
4.  What are the changes coming up in the contemporary scenario in the essay ‘Women’?
5.  How does the poet describe his father in the poem ‘Father Returning Home’?

6. How can you explain the feelings of the old father in the poem ‘Father Returning
Home’?

7. What do the Shadows represent in the play ‘Jatra’?

8. What does the Shadow plead for in the trial scene in the play ‘Jatra’?
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./ B.Com./B.B.A./ (I-Semester) Examination
GENERAL ENGLISH
Paper | (New)

(Under CBCYS)

Time: 2 Hours] [Max. Marks: 80
Answer any FOUR questions (4 x 20 = 80 Marks)

1. Write the ironic twist of fate in the story ‘An Astrologer’s Day’.

2. Write about the past of the astrologer in the story ‘An Astrologer’s Day’.

3. “Studies serve for delight’ explain it from the essay ‘Of Studies’?

4. How can you revaluate and restructure Francis Bacon’s views in the essay ‘Of Studies’?
5. Describe the evil present in the poem ‘A Poison Tree”’.

6. Write about the theme of the poem ‘A Poison Tree’.

7. How did the sergeant help the patriot in the play ‘The Rising of the Moon’?

8. How did the patriot represent the independence in the play ‘The Rising of the Moon’?
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A. (L)/B.Sc./B.Com./B.B.A. (I Semester) Examination
HINDI
Paper 1
(Second Language)

Time : 2 Hours]| [Max. Marks : 80
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (III Semester) Examination
HINDI

Paper I1
(Second Language)

(Under CBCS)
Time : 2 Hours] [Max. Marks : 80
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (III Semester) Examination
HINDI
Paper 111
(Second Language)

(CBCS)

Time : 2 Hours] [Max. Marks : 80
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./ B.Com./B.B.A. (IV Semester) Examination
HINDI
Paper IV
(Second Language)

(Under CBCS)

Time : 2 Hours] [Max. Marks : 80
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(Marks 5 x 16 = 80)
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FACULTY OF SCIENCE
B.Sc. (IV Semester) Examination
MATHEMATICS
Paper IV
(Algebra)

(Under CBCS)

Time : 2 Hours| [Max. Marks : 80

10.

I1.
12.

Section A — (Marks: 4 x 10 =40)
(Short Answer Questions)

Answer any four questions.
How many subgroups does Z,, have? List a generator for each of these subgroups.

Prove that the center Z(G) of a group G is a subgroup of G.

Show that the mapping — log,,a is an isomorphism from R* under multiplication to

R under addition.

Find all of the left cosets of (1, 11) in U (30).

Let ‘d’ be an integer. Prove that 7 [\/E] = {a +b+fd/abe Z} is an integral

domain.
Find all units, zero-divisors, idempotents and nilpotent elements in Z, @ Z,.

Prove that every ring homomorphism f from Z_ to itself has the form f(x) = ax,
where a2 = a.

Let f (x) = 4x> + 2x%> + x + 3 and g(x) = 3x* + 3x3 + 3x% + x + 4, where f (x),
g (X) e Zs [x]. Compute f (x) + g (x) and f (x) .g (x).
Section B — (Marks: 2 x 20 = 40)

Answer any two questions.
Suppose that <a>, <b>and < c > are cyclic groups of orders 6, 8 and 20 respectively.
Find all generators of <a>,<b>and <c¢ >.
Show that the mapping f (a + ib) = a— bi is an automorphism of the group of complex
numbers under addition.
Show that R [x]/<x2+ 1> is a field.
Determine all ring homomorphisms from Z to Z .. Determine all ring homomorphisms
from Z,, to Z,,.

[P.T.O.
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DEID0V0G.
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f 008 Z (98 Hodh 95080 f:Z, - Z, (38 a2 = a 3% f (x) = ax &rdos®
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f(x)=4x3+2x2+x +3, g(x) =3x* +3x3 +3x2 +x + 4, @003
f(x), g (x) e Zs [x] 00 f(X) + g (X) 08asw f(x) .g (X) 0 Ae3ovod.
DerKS00 B — (3078000 : 2 x 20 = 40)

DD BOE) (DH)OK DATEHRV) (P00,
<a>,<b>H8aw <c>ev 6, 8 HB0K 20 e HEVMT BBV EARD B 8D
DdorEren. <a>, <b>WBan <c> o o) Bdy Luresteon §05%,08.

f (a + ib) = a — bi &sBRer, Vo8Y Dogry B0 P R PAIYS0 &8 HgAHo
BOOIETHH BYHBOOER BI"H0&.

R [x]/<x%+1> %0 9 H3odod.

Zo—> Zg 98050 Zy1—> Z) © D065 50050 920880l §087,08.
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FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
MATHEMATICS
Paper I
(Differential and Integral Calculus)
(New)
(CBCS)
Time : 2 Hours] [Max. Marks : 100
Section A — (Marks : 4 x 12 =48)
Answer any four questions.
o’u o’u o’u

- 242452 X —— = =7
1. Ifu=log (x?+y?+ z2), prove that By oz Y Srox oxdy

2 2

X"+y
X+y

- -1
2. Ifu=Ssm ,show that X~ +y —— = tanu

ox oy

L L
3. IfH=f(y-z z-x,x-Yy), prove that ox By o .

3 3
a a
4. Show that minimum value of % =XV + [;j + [7} is 3a.
. . l
For the cycloid x =a (t + sin t), y =a (1 — cos t), prove that p = 4a cos by t].

Obtain the evolute of the parabola y- = 4ax.

Find the length of the curve x =e®sin 0, y=¢% cos 0 from 0 =0t0 6 = g .

© =2 o

Find the surface of a sphere of radius ‘a’.

Section B — (Marks : 2 x 26 = 52)
Answer any two questions.

3 3

ou ou
_ +y o
9. Ifu=tan" > , X # y showthat (a) X — + Y — = sin2u,
x—y y w (a) ox dy

2 2 2
, 3121 ou iy 8_121:(1_4 sin’u) sin2u_
ox 0x0y oy

10. Discuss the maxima and minima of the function u = sin X sin y sin z, where X, y, z are

the angles of a triangle.
2 2
11. Intheellipse X—z + Z—z = 1, show that the radius of Curvature at an end of the major
a

axis is equal to semi-latus rectum of the ellipse.

12. Find the surface of the solid formed by revolving the cardiode about the initial line.

[P.T.O.
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o*u o*u o*u

oyor ozox | oxdy

u=log (x? + y? + 7%), @an®d X DETND0B0E.

2

. X +y B
u= S S 9000 X& +y 6_y = fan U e d5on0s.

3 a_H+ a_H+ aﬂ—o .
H=f(y-2z,z—Xx,X—Y), ®o0 ox oy P @ HBI°H0.

a

3 3
a
u=xy+ (7} + (7j 900D U Qo) EIY Do 3a2 @99 J°H0s.

Row& x =a(t+sint), y=a(l —cos t), ©ond Psrons Bwg); D)5

TgegoP = 4a cos (% tj 99 HITYD.

HTHAHN ¥ = dax B, dHOTEOR Ke30D0d.

x=¢sin 0, y = e cos 0 @ad |50 Boo¥); FEH ERORKB0. BHes O dewvden 0
%008 0 = =

R*&o B, a3BBe0M SMRTMID0, A*¥o Tggo ‘a’.

DRS00 B — (508000 1 2 % 26 = 52)
DD BOLE [HF)0L DHIFRHD0D [FPALVH.

3 3

ou ou
—tan 2t X — +y — =sin2u
u = tan —, , X # Y @00d (a) Y P .
2 2 2
(b) x2%+2xy Ou 2 08 (14 sin’u)sin2u
X

oxoy oy
(D000 u = sin X sin y sin z, X, ¥, Z &0 (§gHeso Bo¥); §%eren ©ond [HTR00H)
K@K&é 08050 §§)‘%lééo é@aoiﬁo&.

2 2

By 380 3 + 17 = 1. B)ED ST Tgngo 998 o (9 ©FR SIS
6535 9D @8 eI BERD 9D BITYIN.

58%BIE Boos), &IBBErR) ERRT0B0. (8O B 2008 D880 308 5°6%BrE
Boog); GIBBerY) ELRIB0.
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FACULTY OF SCIENCE
B.Sc. (II Semester) Examination
MATHEMATICS
Paper 11
(Differential Equations)
(01d)
(Under CBCS)
Time : 2 Hours| [Max. Marks : 80

Section A — (Marks: 4 x 10 =40)

Answer any four questions.

I. Solvey' =sin (x +y)+cos (x +y).

2. Solve(ytz)dx+(x+z)dy+(x+y)dz=0.

3. Solve D%y + (a+b) Dy + aby = 0.

4. Solvey"+ 3y'+ 2y = 12¢*.

5. Solvey"+2y' +y=x%eX

6. Solve (D?-2D —8) y = 9xe* + 10e * by the method of undetermined coefficients.

7. Form the partial differential equation by eliminating arbitrary constants from
z=(x2+a) (y +b).

8. Solvex?(y—z)p+y?(z—x)q=2>(x—Y).

Section B — (Marks: 2 x 20 = 40)

Answer any two questions.

dx 3 dy B dz
x(y'-2z")  y(@-x")  z(x’-y')

9. Solve

10. Solve (D?+ 1) y=cos x + xe?* + e* sin x.
11. Solvex*y"+2x3y"—x2y +xy=1.
12. Solve z2 = pqxy.

[P.T.O.
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. y'=sin(xX+y)+cos(X+y) rododk.

N

(ytz)dx+(x+z)dy+(x+y)dz=0 0 3odos&.

(98]

D%y + (a+b) Dy + aby =0 £0 §0%0&.
4. y"+3y +2y=12e* 0 >Bododk.
5. y'H2y+y=x%e* 2 3oHos.

6. (D?—2D-8)y=9xe* + 10e™ L0 &35 st mg@es‘* B0B0S.

7. z=(x*+a) (y> + b) 200 Ao Rorsey Fohod 88 ©d¥end Hhossery
“08&060&.
8. X2 (y-2)p+y*(z—X)q =7* (X —y) & »GoHod.
DerifS500 B — (5078000 : 2 x 20 = 40)
DD BO D)0 DATEHBRI) [@PO0DH0.
dx dy dz
9. 30 ABoBok.

X' -7)  y@-xh) 2 -y
10. (D?+1)y=rcosx +xe** +eXsinx 0 dGodod.
1. x*y"+2x3 y" = x?2y' + xy = 1 20 80%50&.

12. 72 =pgxy 20 §oHod.
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FACULTY OF SCIENCE
B.Sc. (I Semester) Examination
MATHEMATICS
(Differential Calculus)
Paper I
(Old)

(Under CBCS)

Time : 2 Hours] [Max. Marks : 80

10.

11.

12.

Section A — (Marks : 4 x 10 =40)
(Short Answer Questions)
Answer any four questions.

d’ d
If y=a cos (log x) + b sin (log x), show that x’ —}2] +x 24 y =0,
dx dx
LAY
Verify Rolle’s theorem for the function f (x) =e* (sinx —cos x ), X € [Z ) T}
' o tan X — X log (tan x)
Determine the limits (a) — > o x=0) () T logx as x — 0.

t
For the cycloid x =a (t + sin t), y=a (1 — cos t), prove that P = 4a cos (Ej .
o ou o ou o du
If u=log (tan x + tan y + tan z), prove that (sin 2x) x +(sin2y) 5 + (sin 2z) o 2.

d
Find d_z for the function xY = y*.

Determine the minimum value of x? + y? + z2 subject to the condition x + by + cz = p.

Find the envelope of (x —a.)? + y? = 4a,, o being the parameter.

Section B — (Marks : 2 x 20 = 40)
Answer any two questions.
(Essay Type Questions)

State and prove the Cauchy’s Mean Value theorem. Also give geometrical Interpretation
of the theorem.

(a) Obtain the evolute of the parabola y~ = 4ax.

(b) Find the radius of curvature at the origin of the curve y = x* — 4x3 — 18x2.

ou Ou Ou
(@) Fu=x*(y-2z)+y (z-x)+2*(x-y),prove that 7 - * o t =0,
X a1y Ju ou
(b) Ifu=sin! —+tan =, showthat X =—+y—— =0,
y X [8) oy

(a) Find the minimum value of x? + y? + z2 when yz + zx + xy = 3aZ.

(b) Find the asymptotes of the curve x? y — 3x% — 5xy + 6y + 2 = 0 parallel to the

co-ordinate axes.
[P.T.O.
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d’ d
y =a cos (log X) + b sin (log x), ec0d x’ d—}z] + X d_y +y =0 0 dordodk.
X X
5_7I

n
f(x)=e*(sinx—cosx), X € {Z > } (50008 §°6) Derodo BBBIEod.

tan X — X log (tan x)

@ 2 gin ogx oF = 0 gennem0 E308% 08,

t
x=a(t+sint),y=a(l —cost), H5°08 p = 4a cos (Ej 9 DI°HOG.

. ou ou _ du
u = log (tan x + tan y + tan z), €02 (sin 2x) é;+(sm2y)a—y+(smzz)g=2@g)

BN,

“ dy
XY =y* [530ar8 i E208%08.

X2+ y? + 72 (H00H0 B, Y DD X + by + ¢z = p AANITS edofHeon
E208°,08.

(x —0)? + y? = 4o BooE), Bogedd JEo (Envelope) E208%,08.

DerKS0 B — (3078000 : 2 x 20 = 40)
DBD BoE) [3%)05 DHIFEHD0D [FPASVH.
(TGOEITD VIR (Do)
EPA D05 ooy VERoEeR) (520D AETDoD0E. ¥R argdAD dHTEd BIG.
(a) y*=4ax D500 B &T2ED EX087,06.
(b) y=x*—4x> — 18x?H5°08 Do DOLIY DY HES Tgg0 E08%,08.
ou ou

ou
(@) u=x%(y—z)+y?(z—x)+2z* (x—y) &0 x + 5 + % =0 09 “908.

.4 X a0y 0 ou
(b) u=sin! — +tan ' eomd x 4 y — = 09 H0°D0é.
y X [)'e oy
(@) x?+y*+ 7 (HRoaho BwE), EIY Deud yz + zx + Xy = 3a’ B exvrbdeon

E08%,08.
(b) RDETIE eERL dHroBIO X% y—3x? —5xy + 6y +2 =050 B, e50H Q)
By E208%,0&.
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FACULTY OF SCIENCE
B.Sc. (II Semester) Examination
MATHEMATICS
Paper 11
(Differential Equations)
(New)

(CBCS)

Time : 2 Hours] [Max. Marks : 100

10.

I1.

12.

Section A — (Marks : 4 x 12 =48)
Answer any four questions.

Solve (e¥Y+ 1) cos x dx + &Y sin x dy = 0.

d
Solve(x+y+1)§=1.

Solve y? log y = xyp + p>.

Solve (y—px) (p—1) =p.

Solve y" +3y' + 2y = 12 e*.

Solve (D3 + 1) y = cos 2x.

Solve y" + y = 4x sin x by the method of variaton of parameter.

Form the partial differential equation by eliminating the Arbitrary constants from
Z=(x?+a)(x*+b).

Section B — (Marks : 2 x 26 = 52)
Answer any two questions.

Solve (1 +y?) dx = (tan! y —x) dy.
(a) Solvep?—-7p+12=0.

(b) Solve x2 + p? x = yp.

Solve (D? - 2D + 1) y = xe* sin x.

Solve r + s — 6t =cos (2x +y).
[P.T.O.
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(e¥+ 1) cos x dx + e¥ sin x dy = 0 &0 §oHdos&.

d
x+y+1) d—z=1 20 BoBod.

y2 log y = xyp + p2 &0 80908,

(y=px) (p— 1) =p 0 >Bodoé&.

y' 3y + 2y = 12 X X0 fobod.

(D34 1) y = cos 2x 20 d§od0&.

y" +y = 4x sin X 20 P00 HI°8Y) HES @500 0Bk,

Z=(x*+a) (x* +b) 200G 0Sroe5yBE QTP0sPOR EoR0D, FEE @HLOD VESETRY
E208°%,08.

DerKHo0 B — (3078000 : 2 X 26 = 52)
DDD BO) [H%)05 DHIGFHH0D [FPAH.

(1 +y?) dx = (tan"! y —x) dy 20 a~§050&.
(@) p?-Tp+12=05 3BoBos.

(b) x2+p?x=yp L 3HoBos.

(D2 -2D + 1) y = xe* sin X &0 §oH0é&.

r+s—6t=cos (2x +y) 0 dobodk.
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FACULTY OF SCIENCE
B.Sc. (III Semester) Examination
MATHEMATICS
Paper 111
(Real Analysis)

(CBCS)

Time : 2 Hours]| [Max. Marks : 80

10.

I1.

12.

Section A — (Marks: 4 x 10 =40)

Answer any four questions.

. [ nm
Show that the sequence sin ( ?j does not converge.

Letx,=landx ,, = 3sz1 forn>1.Showiflimx_=a,thena= 3 ora=0.

-1)"n!
Verify convergence of the series z ( 2)“ )
Find the maximum and minimum of f (x) =x> — 6x2 +9x + 1 on [0, 5].

Find radius of convergence and exact interval of convergence for the series z — x",
n!

1 + 2 cos’nx .
Letf (x)= T . Prove that (f ) converges uniformly to ‘o’ on R.

2n 3
_[ x* sin®(e*) dx 16m

-2n

Show =

1
Let f(x)=sin b for x # 0 and f(0) =0. Show f is integrable on [-1, 1].
Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

Prove that a sequence is a convergent sequence if and only if'it is a Cauchy’s sequence.

o~ 1
Show Zz n (log n)P converges ifand only if P> 1.

Letf (x)=x-x"for x €[0, 1].

(a) Does the sequence (f,) converge pointwise on the set [0, 1] ? If so give the limit
function.

(b) Does (f) converges uniformly on [0, 1]? Prove your assertion.

State and prove Fundamental Theorem of calculus II.
[P.T.O.
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n>180x% =1,x,;=3x2 ®wd, limx, =a eonsdpt a= 7 So°a=0ed

> “n+l 3

S0°H08.

~1)"n!
> ( 2)“ T B By, eDosBaem 56990508 |

[0,5]° f(x)=x3—6x2+9x + 1 3% 183, 55 DSOS é&i)gsbo&.

2
Y o X" Be38 edose argego, @i @080 538,08,
n! ®

1 + 2 cos’nx (
f ()= BN ®3 [H0057°0 D0 (f ) R 0 £ J58°0 995800 Dod

0K D0k,
2n
J‘ x* sin®(e*) dx

-2n

167°
< T3 D 3rSod.

1
X # 0 &% f(x) =sin < £(0) =0 Hdoapo [1, 1] D 83°E0ddho @ S5°Hod.

Dgrrisn B — (s0mt,e0: 2 x 20 = 40)
DD Bot (HEPE DITFHI0D [P

28 BRED0 BPIBoIEI ©8 §'A BHEDO S0 HO5.

~ 1

~ 1 (log n)? ©DIBOBEIS es3¥Ese Somgs) Do P> 1 e Hresoé.

x €[0,1] &f (x)=x—x"eo0d

@ [0, 1]3 (F) 3% DotoIE ©DIBBAHESD H83D030E. 253 DB 58 (FRALe)y
§c§5&§660&.

(b) [0, 1] () 585°5 e938es BoEE0m? A TS0 P30oYav.

AIIPEOR) S°e gfocgoeéo— II 5 o0 dEren08506.
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FACULTY OF SCIENCE
B.Sc. (VI Semester) Examination
MATHEMATICS
Paper VIII (b)
(Vector Calculus)
(Under CBCS)

Time : 2 Hours] [Max. Marks : 80

10.

I1.

12.

Section A — (Marks : 4 x 10 =40)

Answer any four questions.
Evaluate the line integral _[ Fodr yhere F = (v, %, z) and C is the straight line from
(0,0, 0) to (1, 2, 3). ¢

Evaluate the line integral of the vector field U = (527, 2x, x + 2y) and the curve C
isgivenbyx=t,y=t,z=t3,0<t<1.

Evaluate the surface integral ” rn. ds where S is the surface of paraboloid
Z=1-x*-y*withz>0. >

Evaluate the surface integral of U = (xy, X, X +y) over the surface S defined by Z=0
with 0 <x <1, 0 <y <2, with the normal n directed in the positive Z direction.

Determine whether or not the vector field F = (sin y, x, 0) is conservative.

Find the directional derivative of the Scalar field f (x, y, z) =2x + (1 + y) sin z at the
point (1, 2, 3) in the direction of the vector (1, 1, 0).

Find the unit normal to the surface xy? + 2yz = 4 at the point (-2, 2, 3).
(a) Find the divergence of the vector fieldu=r.

(b) U=(xy,z+x,Yy). Calculate V x u and find the points where V xu =0.
Section B — (Marks : 2 x 20 = 40)

Answer any two questions.

By considering the Line integral of F = (y, x> — x, 0) around the square in the XY-plane
connecting the four points (0, 0), (1, 0),(1, 1), (0, 1), show that F cannot be a
conservative vector field.

Evaluate ” Un.ds where U = (x, z, —y) and S is the surface of the cylinder
S
x?+y? =1 lying between z=0, z = 1.

Show that a vector field F is conservative if and only if there exists a scalar function
¢ such that F = v ¢.

(a) Prove V2V ]=0. (b) Find V.V, if p=2x7y>z*. [P.T.O.
T
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C

x=ty=t,z=1t0<t<135o Joaadk 38z o U = (522, 2x, x + 2y) Bw¥), BPaH
B350 C 808°) 08.

S @3 2oo’'BE Z=1-x>—y> & 72> 0 e00d $HADH IS5 H rn. ds  devs
§&5J§6b0&. >

0<x<1,0<y<2,Z=0e3 300 S 3 Z o950 $383¥° a3°ded edeoe 8% n
@008 S D 98% U = (xy, X, X +y) G0¥, $Doh 855500 50" 0.

B8z Zgo F = (sin y, x, 0) d&ssc 967 F@o H@om? w2 IBB-tod.

(1, 2, 3) DoY) 3¢ (1, 1,0) >8% 835° £ (X, y,z) = 2x + (1 +y) sin z 8% o
G, Pl DY) 8387 0.

(-2, 2, 3) Dot 3G Swo G, Xy* + 2yz = 4 GB0Y, 0$0°e5 SIALIL)
§:308°% 0.

(a) BB FBo u = r L), BDBBE08 EDE% ok

(b) U=(xy,z+ X, y). @08 V xud 850 Vxu =0 @008 Dok
§:308% 06k

Dgrrsn B — (305°80,00 : 2 x 20 = 40)
D3V Bodd (HHPY JIrFIe0 [FEADos.

XY-800¢° (0, 0), (1, 0),(1, 1), (0, 1) 93 DotoHod EOD S0 Do $8F Fgko
F = (y, X’ — X, 0) G%, 8D wsiorged E508%d F Dese DBT JB0 26 WrSod.
2=0,2=138 S ed arvo x> +y =13 38 U = (x, 2, -y) @owd $dab
55075099 [ Un. ds 50 5:08%,08.

S
367 G0 F Do so5G708 et Sovgs oo F = v erdsey § ed obw
g0 SRRSO @ WrHod.
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FACULTY OF SCIENCE
B.Sc. (VI Semester) Examination
MATHEMATICS
Paper VII
(Numerical Analysis)
(CBCS)

Time : 2 Hours| [Max. Marks : 80

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

1

Use the Bisection method to find the P; for f (x) =3 (x + 1) (x - —j x-1)
2

on [-2, 1.5].

x+3-x"*

/2
5 has a fixed

Use algebraic manipulation to show that function g(x) = (

point at p precisely when f (p) = 0, when f (x) = x* + 2x? —x - 3.

Determine the linear Lagrange interpolating polynomial that passes through the points
(2,4)and (5, 1).

Use the Newton forward-difference formula to construct interpolating polynomials
of degree one for the following data f(0) =1, £(0.25) = 1.64872, £ (0.5) = 2.71828,
£(0.75) = 4.48169.

Determine the natural cubic spline S that interpolates the data £ (0) =0, f (1) =1
and f(2) =2.

1
Show that lim, . , (%) h=e.

Approximate the integral J.ols x* dx using the Simpson’s rule.

The quadrature formula J:f (x) dx = ¢, £(0) + ¢, f(1) + ¢, £(2) is exact for all

polynomials of degree less than or equal to 2. Determine the constants ¢, ¢, and c,.

[P.T.O.
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Section B — (Marks: 2 x 20 = 40)
Answer any two questions.

Use a fixed-point iteration method to determine a solution accurate to within 102
forx>—~x—1=0on[1,2]. Usep, = l.
Use Stirling’s formula to approximate f(0.43) for the following table :

X 0.0 0.2 0.4 0.6 0.8
f(x) | 1.0000 | 1.22140 | 1.49182 | 1.82212 | 2.22554

Use the Hermite Polynomial to find an approximation of /(1.5) for the following data:

X f(xk) S'(x)

1.3 | 0.6200860 | —0.5220232
1.6 | 0.4554022 | —0.56989959
1.9 | 0.2818186 | —0.5811571

N~ O

Use the composite Trapezoidal Rule with the indicated values of n to approximate

the integral fz x’e*dx, n = 4.

TELUGU VERSION

DEPHB0 A — (30800 1 4 x 10 = 40)
DD TV ()0 DHTEHIN [FPAIH.

1
QRGP0 DEBD &IBRod f(x) =3 (x +1) [x - Ej (x—1)8[-2,1.5]
@oBS0p Py 82087 0G.
x+3-x*

2
P D R DOK) &0enSR Brdod. age f(x) = x*+2x2 —x-3.

2
DRAD H°K)) &IBITRoD f (p) = 0 @oIYE g(x) = ( J (53050

(2, 4) 98050 (5, 1) Do&oDH© KooG® PG DEY Brod @oBTLAE DTVIBD
E208°%,08.
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I1.

3 4580/5

BI0D BYYS DT B0 90 :65°§eo5 DETHBRD e Qe @dH0 &IBIPR0D @oBOED
280D BENY wTVHBD L0808, (0) = 1, £(0.25) = 1.64872, £ (0.5) = 2.71828,
£(0.75) = 4.48169.

/YYD ddee8o £(0) =0, f(1) = 1508050 f(2) =2 8 @0o&8gs STra L5898 )00
S 0 80808,

2+hj1

limh 50 (E h— € W\J)O&.

0D AIPBIN TGO DHIPEODO j;S x* dx GBoo¥); &apan0) Hend EX087,08.

Sq BB B (BR joz F(x) dx =c, F(0) +c, £(1)+c, f(2) Bock Bo eoBsmr B,
HEHS Ko ) DITVDEIOL PDNHO OB ¢, ¢; WBAN ¢, Devden EX057,06.
DgPKB0 B — (S3pen : 2 x 20 = 40)
DD BOLk) (53050 DHTFIH0) [FPAL0D.
x* —x — 1= 081, 2] @0850S" 5 DoY) YHKE HFOV &IB R0 PAYER
AesHoR) 1072 55% 8208%,08. p,= 1.

BI0D DI 2008 £(0.43) ese 000D PBOR @50 SIBIR0D S804 :

X 0.0 0.2 0.4 0.6 0.8
f(x) | 1.0000 | 1.22140 | 1.49182 | 1.82212 | 2.22554

BIND DL 2008 2rBiel TVHBR &HBIR0Y [(1.5) Bowg), e o000 K808

X f(xk) S'(x)

1.3 | 0.6200860 | -0.5220232
1.6 | 0.4554022 | —0.56989959
1.9 | 0.2818186 | —0.5811571

N~ O

12, H00ng S0 HEotyes Ar(Ew oo Sargeso [ x e dx, n =48

€58 000D 087,08,




D
O
e

4vS926d40449/.-€149-T1SV-60€.-1€694Ad64



4819/5

FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./ B.Com./B.B.A. (I Semester) Examination
SANSKRIT
Paper I
(Second Language)

(New)

(Under CBCS)

Time : 2 Hours| [Max. Marks : 80

Answer any four questions.
(Marks 4 x 20 = 80)

. SATCHITRTRTh AT ATTATTER SRS Toeh: hIgeT: TI1q ¢ Ty farereaq |
2. HITHE FIET e FHare forad |
3. gHAG ST 3 TSNS SiaTiehed Tty widaq Sfeorad |
4. Fhae e fsfa: 3fa dre=mere ar fagup |
5. U9 g TG 3fd TTeee 9R g |
6. FFUIGET 3168 T fofard :
(i) =
(i) fug
7. GYUaAT YeawuTivT forad ¢
(i) =t
(i) WY
8. Ul FETE fored |

—_—
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./B.Com./B.B.A. (Il Semester) Examination
SANSKRIT
Paper 11
(Second Language)

(New)

(Under CBCS)

Time : 2 Hours| [Max. Marks : 80
Answer any four questions.
(Marks : 4 x 20 = 80)
1. HEHIEH HEETHId BTN SHATHH Ui |
&S JErCaf: gf areTe w foed |
JecH AT Heed forad |
TEETEEETE: FETOT fguLd |
5. WeRaEfewd FHeraHe forad |
6. TRYUIGET ETg T fore
(i) T
(i) fergy
7. Gufaan &g waTior fora
(i) I
(i) 5%
8. STeRiTIHHTE: Tieew fofad |

Sl
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (I Semester) Examination
TELUGU
Paper I
(Second Language)

(Under CBCS)

(Old)

Time : 2 Hours| [Max. Marks : 80
&5 (808 [9%)0S° IDD TOR0EIS SHrTrTren 0700,
(S38e0 : 4 % 20 = 80)

1. 9588 [29graB0e38 S0Bgoee! avre Y
1 DBAZOK K0P0en DETRIBKN BB 8IS S0
DT (80200 BOSHHC B3OS &5y 1000 LB
B HB50/00 Doy BHOK T°)B8508 Ko B
&3 K)Cb“’es“()g A g or000G.

2. THIRES FEErHoS” 59 HBoDD (95 HPHe% Trahod.

3. sP0en KT 0G5S’ 8erd (990 BB 2 dFomr BOAHET .
4. KoR 3&y SgrozeR)y B)0HBODOE.

5. “a0moB0” GBS 550008 I DICDOTE?

6. DB, JoER) ) BOTRY BOIOE.

7. Gogane, $5E°8)8, 08,08, o8 HTres 28 908 DK B 908 BrEre
a0,

8. BIFHID0, HoVETHIND, BHFOONDN, o HEDVV Fe T DD TEFHN
O, & DITDVIT BOD 3 DI OFEFY) DB H0E.




4865

FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (I Semester) Examination
TELUGU
Paper 11
(Second Language)

(New)

Time : 2 Hours] [Max. Marks : 80

&5 (808 [9%)0S° IDD ORI DHrErIren 07000k,

(doe : 4 x 20 = 80)

1. 2880 BYyceh %o BJE 0uKH0 BE o Dofode &
DBTE020 BBC & (#K DH0 QYOI 8 570
BE FARYINC 238, THCed TGS (29GB & HT’
D8 BerovoRD Debcd Kes [T DS TH)IE.
s KJZS"é«‘Og A gy 00006

2. TPR0R0E D0BB0 80 TR0 B0 ST FPoESTR IHBoVOE.

3. o 8978 ©0oiy BenHos.

4. “[DD0H HEen” S° HPoDNGED (HD0D BHEgY) HHBoVOG.

5. “HD0@ Do HO Tesddd e BYIST) 99B80Hod?

6. B, JoEo DK (D00 D9B0BOG.

7. &EOIITY, VOJOITO HEFOEETON OF JoEes VRAgBON HIBoH0E.

8. 008, VD0 Dy OFETOR 0F JO5E PIBOIT DHBoBOE.
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (I Semester) Examination
TELUGU
Paper 11
(Second Language)

(Under CBCS)

(Old)

Time : 2 Hours| [Max. Marks : 80

58 (808 T°IS° IV TR0 (5%)05 FHrFERred 0°0H0G.

(S5°80,e0 : 4 % 20 = 80)

1. sy APER0DDE H00d (HBIEA S°00IS
TPPA080N PYTRE D &SNP Yo Yo
Ao &9 BYHrEG ADREES FEs a0
FOB YO0 dig P [@erfey) g3 508D
&3 K)Cb“’es“()g Ao TPy or000G.

2. & BoRF B 0k K18y TaHod.

3. [DDoDDEIe FeBger/l Fr0°0F0 T°0H0C.

4. “8% 808 ardggrifo Tgo° SHoNG DHTPR8NYS HoBFS’ Bewdod?
5. D305 H3PNE DO e e9PIIPA0T*E’ BeH0E?

6. ‘Do B0 SR PO KN TY HPodD IR DTN,

7. DESDHBD FEHOEIT 00 BenDod.

8. SISV 39S “édéégéoa’)” o1 080D IHBoVO.
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (III Semester) Examination
TELUGU
Paper I11
(Second Language)

(Under CBCS)

Time : 2 Hours] [Max. Marks : 80

55 (808 T°DS° JID TOOKD %00 DITHETTEen TPaHodk.

(S0 : 4 x 20 = 80)

L S005000¢ DEIHHS DI BY HR0I0 $B DS H
85000 Bk BE),© B0V BOYRY Nede &°
PR DETB BggRoo 2088 o0 udBoRE'E B0
22)HC WEVOESHOWDR FIrHBIBE Den ol TR
s KJZS"é«‘Og AN g o006,

2. @ 0P PR 9EONADD DFEIKVK dHBoBod.

3. “BE0 [H8Y FEETHITTEONT ‘eI’ Hreakeasnen d98oDos.
4. “eﬂgﬁéo” 205ES €9 38023 65362)6 [REOED YT IHB0H0E&.

5. 0.2 B @il dearergd8 DD WH K8y o°ahod.

6. Yoo IEIABD “ETo%NB 00’ ETEIE TEO° B B DoBFIES®

BewHod?
7. 39HJe0 TeE0S R erE” KeaBodnen 9580908.

8. “HOHZ0” TwE A8 HER) IHB0B0E.
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.M. (IV Semester) Examination
TELUGU
Paper IV
(Second Language)

(Under CBCS)

Time : 2 Hours] [Max. Marks : 80

&5 1808 TIS° IDD T/ (380 VIrTIre TPaHod.

(308 : 4 % 20 = 80)

. 28 H08&° DBV BoeoHe Dotorr, e
TE0E° SITER0 Sy, WG EB Bocsec
R®8 #5205, T 5700 Kt 5000868 H08 Sy Do
8P 805008 aHBE0WK D0Y) doesckS
s HoegdE JJo gy TeADod.

2. TRIoro FEErHoS D 2 Jymed) d580w0é.

3. R0 B, B J0? KBS’ °E°R 00U BID 530 K80D DOGODH T O
dHBoBOG.

4. 1088 E5Er0S 38 HyTR) DHBoBOG.

5. “DYB oRDS DA EeedES® 5506 o K80 SHo® FrIred 9580908,
6. Treld D) JeP AT @I TS0 9580908 ?

7. &I0°005° 80, BAXOOSTEINOR K178y TS0 9580908,

8. &B)OITY, B8 Hg OFETO TIPS HB0Hos.
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (I Semester) Examination
TELUGU
Paper I
(Second Language)

(New)

Time : 2 Hours] [Max. Marks : 80

DD TV (HF)OK BTV (FPAVH.

(D°80e0 : 4 x 20 = 80)
1. 3080 Hederody HPodod.

2. RS0 8g° Hymromed) 9580%0é.

3. KoSeres edmond) ‘SeRvuen’ Rard) H8owod.
4. @3 ‘@0Hy8’ Ry 9980H0é.

5. HISBD 390 TR Beodod.

6. 0E5M008es8 DB HFoWods.

7. DD 40500 TS0 580908,

8. DD 4 IO AT IFN0D0G.




